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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622825
Question Shuffling Allowed : Yes

Question Id : 536228617 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (1 to 5)
Question Label : Comprehension

Consider the following table that shows the number of girls enrolled 1n three different
Universities A. B and C over the vears 2015 to 2019. Based on the data in the table. answer
the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a University

Year
A B C

2015 | 15.000 10,000 5,000

2016 | 10.000 17.500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25,000 15,000

2019 | 25,000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 536228618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Umiversity C in the year 2018
and the total number of girls enrolled in University A and University B together in the same
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362282401. 1
5362282402. 2
5362282403. 3
5362282404. 4

Question Number : 2 Question Id : 536228619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in the year 2019 and 2015 1s minimum

for

(1) University A only (2) University B only

(3) Both University A and University B (4) Both University A and Unmiversity C

Options :

5362282405. 1
5362282406. 2
5362282407. 3
5362282408. 4

Question Number : 3 Question Id : 536228620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the vear 2017 in all the three Universities

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362282409. 1
5362282410. 2
5362282411.3
5362282412. 4

Question Number : 4 Question Id : 536228621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled in all the three Universities together in the vear 2015 1s what

percentage (%) of the total number of girls enrolled in University C in the year 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362282413. 1
5362282414.2
5362282415. 3
5362282416. 4

Question Number : 5 Question Id : 536228622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together i1s second highest for
the vear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362282417. 1
5362282418. 2
5362282419. 3
5362282420. 4

Question Id : 536228617 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Number of girls in a University

Year
A B C

2015 | 15.000 10.000 5.000

2016 | 10.000 17,500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 | 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 536228618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o9 2018 ¥ favatamme™ C # Ffaen o4 aTell STierpsl =i %ol @EE a9 361 99 {GvataeeE A 3R

favafaamea B 5 afaen =+ arett afersradt i Affeid Fel S 1 S99 391 7 ¢
(1) 4:3 (2) 3:4

(3) 2::3 (&) 1:3
Options :

5362282401. 1
5362282402. 2
5362282403. 3
5362282404. 4

Question Number : 2 Question Id : 536228619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2019 3T T4 2015 H SMGeT o ATl eIl i HEa § A Hefeiiad § ° F
fore e 2 |

(1)  ae favataaeEm A (2) o= Tavata=ea B

(3) TEvata=nem A @ r EvatEEmes B 2 (4) Tavat=TEE A 3R fHSvatem C 2m

Options :

5362282405. 1
5362282406. 2
5362282407. 3
5362282408. 4

Question Number : 3 Question Id : 536228620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

a9 2017 | A1 Tavata=er § FiEen Sarel aerhiAl i SAHd W = o

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362282409. 1
5362282410. 2
5362282411.3
5362282412. 4

Question Number : 4 Question Id : 536228621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2015 H A FvatmeE 4 afger SHaEe aiess fi wfEea Fe dem =9 2018 H@

Tavafaamem C o eifgen sHare anferwiaAt i Het gean F1 e gfaem 27

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362282413. 1
5362282414.2
5362282415.3
5362282416. 4

Question Number : 5 Question Id : 536228622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



vt d1 favafaemt 8 Fa foar frd o 1 gifgen sare aifasen f ger o "

(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362282417. 1
5362282418.2
5362282419. 3
5362282420. 4

Sub-Section Number : 2
Sub-Section Id : 53622826
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

From the following. identify those characteristics which go within the categorv “helping
behaviour’ for becoming an effective teacher :

(A)  Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (C). (D) and (E) only (4) (A). (C)and (D) only
Options :



5362282421. 1
5362282422.2
5362282423. 3
5362282424. 4

Question Number : 6 Question Id : 536228623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282421. 1
5362282422.2
5362282423. 3
5362282424. 4

Question Number : 7 Question Id : 536228624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D) Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362282425. 1
5362282426. 2
5362282427. 3
5362282428. 4

Question Number : 7 Question Id : 536228624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282425 1
5362282426. 2
5362282427. 3
5362282428. 4

Question Number : 8 Question Id : 536228625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes ‘Rule

learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362282429. 1



5362282430. 2
5362282431. 3
5362282432. 4

Question Number : 8 Question Id : 536228625 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

.
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(1) === Toree sty (2) TOIF AT
(3) a5z st (4) wEer At
Options :

5362282429. 1
5362282430. 2
5362282431.3
5362282432. 4

Question Number : 9 Question Id : 536228626 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

: No Is Question Mandatory : No

: No Is Question Mandatory : No

In which of the scales of measurement, the properties of classification and order. both are

present?
(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362282433. 1
5362282434.2
5362282435. 3
5362282436. 4

Question Number : 9 Question Id : 536228626 Question Type : MCQ Option Shuffling

: No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

g ATt o i 9o 9 2T T SufeE B R

(1)  =E= (2) FHF
(3) = (4) I
Options :

5362282433. 1
5362282434.2
5362282435.3
5362282436. 4

Question Number : 10 Question Id : 536228627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions 1n classroom teaching 1s to promote and
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MOOCs etc. have the potential
to become effective supplements to conventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement I 1s true
Options :

5362282437. 1
5362282438. 2
5362282439.3
5362282440. 4



Question Number : 10 Question Id : 536228627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282437. 1
5362282438. 2
5362282439. 3
5362282440. 4

Question Number : 11 Question Id : 536228628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures to

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research 1s not only a przed goal but a prerequisite for

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
5362282441. 1
5362282442. 2
5362282443. 3
5362282444 . 4

Question Number : 11 Question Id : 536228628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282441. 1
5362282442. 2
5362282443.3
5362282444. 4

Question Number : 12 Question Id : 536228629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provides
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heurstics (IT) What 1s the culture of thiz group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of this phenomenon for
thosze people?

Choose the correct answer from the options given below :

(1) (AD), (B)-(IV). (C)-IID. (D)-(II)
(2)  (A)-dD. (B)-I). (C)-IV), (D)-(D)
(3) (A)-(I1D). (B)-(ID). (C)-(D), (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

Options :

5362282445. 1

5362282446. 2

5362282447. 3
5362282448. 4

Question Number : 12 Question Id : 536228629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o1 F g1 F wng gafea i gefi-1 omens sy afges i # sefs g w9 g 3
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(I @D, B)-AV). (C)-d1I), (D)-(1I)
(2) (A)-(II). (B)-(III). (C)-@V). (D)-(I)
(3) (A1, B)-ID. (C)-@), (D)-IV)
(4) (A)-(IV), (B)-(I). (C)-ID. (D)-(III)

Options :

5362282445. 1

5362282446. 2

5362282447. 3
5362282448. 4

Question Number : 13 Question Id : 536228630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362282449. 1
5362282450. 2
5362282451.3
5362282452. 4

Question Number : 13 Question Id : 536228630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U HENEENAT % SEATE i FET H 2 ° 3H Jrell i SEE] W ST A ) "9 7| 39 "2 | e

(1) =g wia==m (2) TEf=a® Aia=a
(3)  wWETSE AidaEA (4) FHE Tia=E
Options :

5362282449. 1
5362282450. 2
5362282451.3
5362282452. 4

Question Number : 14 Question Id : 536228631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnalssance in action
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362282453. 1
5362282454. 2
5362282455. 3
5362282456. 4

Question Number : 14 Question Id : 536228631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 3= (B) 3K (C) (2) Fae (A) R (B)

(3)  #== (C) 3 (D) (4) Faa (D) # (B)
Options :

5362282453. 1
5362282454. 2
5362282455.3
5362282456. 4

Question Number : 15 Question Id : 536228632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents and
the scholastic achievement of pupils. Which of the following method of research will be
considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362282457. 1
5362282458. 2
5362282459. 3
5362282460. 4

Question Number : 15 Question Id : 536228632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362282457. 1
5362282458. 2



5362282459. 3
5362282460. 4

Question Number : 16 Question Id : 536228633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Whach of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4d) Avolding eve contact with students

Options :

5362282461. 1
5362282462. 2
5362282463. 3
5362282464. 4

Question Number : 16 Question Id : 536228633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT TS § efeinEd ¥ ¥ 94 SEvEE B 7
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Options :



5362282461. 1
5362282462. 2
5362282463. 3
5362282464. 4

Question Number : 17 Question Id : 536228634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B).(C). (D) only
(3  (B). (0. (E) only (4) (C). (D). (E) only
Options :

5362282465. 1
5362282466. 2
5362282467. 3
5362282468. 4



Question Number : 17 Question Id : 536228634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(3) === (B). (C) #1 (E) (4)

Options :

5362282465. 1
5362282466. 2
5362282467. 3
5362282468. 4

F4a4 (B). (C) 311 (D)

Fa (C). (D) AR (E)

Question Number : 18 Question Id : 536228635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the

communication barriers.

Reason (R) : Since communication 1s a complex process. regular feedback analysis 1s

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362282469. 1
5362282470. 2
5362282471. 3
5362282472. 4

Question Number : 18 Question Id : 536228635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282469. 1
5362282470. 2
5362282471. 3
5362282472. 4

Question Number : 19 Question Id : 536228636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

(1) (A (C). (B). (E). (D) (2) (C). (B). D). A), (B)
(3) (B). (C). (E), (D), (A) 4y (D). (E). (C). (A). (B)
Options :

5362282473. 1
5362282474.2
5362282475.3
5362282476. 4

Question Number : 19 Question Id : 536228636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A (C). (B), (E). (D) 2)  (O). (B). D). (A). (B)

(3)  (B).(0).(E) D). A @) (D). (E). (). (A). (B)
Options :

5362282473. 1
5362282474.2
5362282475. 3
5362282476. 4

Question Number : 20 Question Id : 536228637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with ILast II. Last I gives Modes of Commumnication. while List IT provides their

description

ListI List IT
(Modes of Communication) (Dezcription)
(A) Publicity ()’ Reputation management
(B) Propaganda (ITI) Paid message
(C) Advertising (ITII) Non-commercial promotion
(D) Public relations (IV) Communication with motives

Choose the correct answer from the options given below :

(2)  (A-ID. (B)-(ILD. (C)-(IV). (D)-(D)
(3)  A-IV). (B)-1). (C)-11I). (D)-(II)

(4  (A)-dI). (B)-(IV), (C)-ID). (D)-(I)
Options :
5362282477. 1
5362282478. 2
5362282479.3
5362282480. 4

Question Number : 20 Question Id : 536228637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g=1-I =1 gi-I1 & gafeq Hifao

-1 111
(wFeror fafer) (Fereron)
(A) TER @ e vEeE
(B) ITER D) U #E
(C) fasrm (D) T arorfsas dada
(D) = T7F (@IV) EuEE HO
H=t fo7 T foebent § @ wE = g

1) (A)-(I). (B)-(1I), (C)-(1I), (D)-(IV)
(2) (A)-(ID. (B)-(I1D). (C)-(IV). (D)-(I)
(3) (A)-(IV). (B)-1). (C)-IID). (D)-(I1I)

(4) (A)-(IID). (B)-(IV), (C)-(I), (D)-(I)

Options :

5362282477. 1
5362282478. 2
5362282479. 3
5362282480. 4

Question Number : 21 Question Id : 536228638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362282481. 1
5362282482.2
5362282483. 3
5362282484. 4

Question Number : 21 Question Id : 536228638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 3 YA ffu e E

o4 (I): o7 994 & T feel f-sifead (977 =9 <) § TeEn #1535 |
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A1 29 76 2 |
ITIF FYAT o A H I fahedl § H HA I 9 ¢

(1) =y I3k I EH 58 2 |

(2) =y I sk I 2MT e 2 |

(3) FHIT=z Fg 5 7o 2|

(4) =y I AEea 7 g %o oA 7 |

Options :
5362282481. 1
5362282482. 2



5362282483. 3
5362282484. 4

Question Number : 22 Question Id : 536228639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs. she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (D) only
(3) (B) and (D) only (4) (B) and (C) only
Options :

5362282485. 1
5362282486. 2
5362282487. 3
5362282488. 4

Question Number : 22 Question Id : 536228639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Higar 4 8 WHISA (TeF 8 W Arch) R 9T (UAF 6 W A1) THEG R | oW 3E W1 A et fioat
T T 39 F T 54 o | e § ¥ S iE-E1/HE -0 TaE e

(A)  FEF b THISA UHEE H |

(B) 35 3 HHISAT UHLE H |

(C) 35 5 971 UHEA #l |

(D) IEF 3 97 UHEE H

Fr T2 T faret § @ @R I R

(1)  #a9 (A) 37 (C) only (2) =ae (A) #E (D) only

(3)  Fa= (B) 317 (D) only (4) Fa (B) 37 (C) only

Options :

5362282485. 1
5362282486. 2
5362282487. 3
5362282488. 4

Question Number : 23 Question Id : 536228640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Complete the series :

R Ty
1 75 2 76
3 77 @ 78

Options :

5362282489. 1
5362282490. 2
5362282491. 3
5362282492. 4

Question Number : 23 Question Id : 536228640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2.5,9.19.37,.....

(1) 75 (2) 76

(3) 77 (4) 78
Options :

5362282489. 1
5362282490. 2
5362282491. 3
5362282492. 4

Question Number : 24 Question Id : 536228641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 o'clock will the hour hand and minute hand of a eclock
together?

(D 10% min. past 2 () 1[}% min. past 2
10 . :
(3) 11ﬁ min. past 2 (4) 11 min. past 2

Options :

5362282493. 1
5362282494. 2
5362282495. 3
5362282496. 4

Question Number : 24 Question Id : 536228641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 239 1{}%1'54:12'47. (2 2999 10%1%1?:117
(3) 2= 11% e m (4) 233 1192 W

Options :

5362282493. 1
5362282494. 2
5362282495. 3
5362282496. 4

Question Number : 25 Question Id : 536228642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers 1s

(1) 39 (2) 34
(3) 30 (4) 38
Options :

5362282497. 1
5362282498. 2
5362282499. 3
5362282500. 4

Question Number : 25 Question Id : 536228642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTq HiHF ST &1 9d 33 | =90 © Oed 931 o 201 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362282497. 1



5362282498. 2
5362282499. 3
5362282500. 4

Question Number : 26 Question Id : 536228643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥aya syllogism which states the reason for the establishment of
the proposition 1s called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362282501. 1
5362282502. 2
5362282503. 3
5362282504. 4

Question Number : 26 Question Id : 536228643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

M F9E ° A F IE A99d ATaREE il TET % 0 a9 291 7, 39 ®al A e -

~

1) vl 2 =3
(3) L A (4) 373
Options :

5362282501. 1
5362282502. 2
5362282503. 3
5362282504. 4

Question Number : 27 Question Id : 536228644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1s
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashrvasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362282505. 1
5362282506. 2
5362282507. 3
5362282508. 4

Question Number : 27 Question Id : 536228644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"SATRTIIREA Gl 7 FI 9% A 7 | See o fore = ot Ael BT & °F gigd Ban 2, S| R
ATeTTE | 3 T F0 |

=0 9% § eAfeiEd 9 o TRE SeaE i Seoid TR T R

(1) w==uEg (2) ImyAtTE
(3) Aeaig (4) Twg
Options :

5362282505. 1
5362282506. 2
5362282507. 3
5362282508. 4

Question Number : 28 Question Id : 536228645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List II explains their
description.

List I List IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(IL). (B)-(D), (C)-(IID). (D)-(IV)
(2) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)
(3) (A)-(D). (B)-(ID), (C)-aV). (D)~(III)
(4) (A)-(IV), (B)-(III). (C)-(D. (D)-(II)
Options :

5362282509. 1

5362282510. 2

5362282511.3

5362282512. 4

Question Number : 28 Question Id : 536228645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A1 i FA1-11 § gafea IS0 G-I 1 97 TR & seams & F@is gei-10 | 336 =amen 4§ T 2 -

gil-I TH-11
(B) w=ATHEw 1) :ﬂﬂﬁj}‘rmuﬁaﬁﬂqmgm:rfm
TFT 371 TH1 g0 BT |
(C) daufaus IID) == AT =0 1 79 2 |
D) =i (Iv) qT:;.'ﬂ'f.q—r'"u%ﬁT‘ﬂ%;ﬂMH%I

= 2 T faweT 8 @ mE I =99 i
1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(D). (B)-(IL), (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(II)

Options :
5362282509. 1
5362282510. 2

5362282511.3
5362282512. 4

Question Number : 29 Question Id : 536228646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Assertion (A): Indian Philosophy has been 1ntensely spiritual and has always

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of vision
which stands for the direct immediate and intuitive vision of Reality and

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct
Options :
5362282513. 1
5362282514. 2
5362282515.3
5362282516. 4

Question Number : 29 Question Id : 536228646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



9 2 o T2 T # ; w AT (A) 3R g F A (R) FE T

FirFeE (A) - TR T T =T § oNeniaE w2 it oo =N B o 1 s g A
SATETHHAT 9§ 1237 T E |

i) L

S THIES 28 1 TAF 7 G997 EH 97 Aghed i WiEa 2 | 8 dagta i A o

Al = |

3”:?'3 ’-Fﬂzﬁ' =+ -'i-IIvIHI'Hh 'E[ ELSIED Ircldnrvm '.l:[ '.q mﬁ%ﬁﬁ I T —Eﬁ- ;

D (@) i ®) T #E E S R), (A) A = = 2
@ (@) #R ®) = T T R). (A) F O = =
(3) (A TE 2w (R) 79 T8 2 |

(4)  (A) TF TE 2 T R) T R
Options :
5362282513. 1
5362282514.2
5362282515.3
5362282516. 4

Question Number : 30 Question Id : 536228647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy., Nyayva advocates the theory of extrinsic validity of
knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of its

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362282517. 1
5362282518. 2
5362282519. 3
5362282520. 4

Question Number : 30 Question Id : 536228647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁ$ﬂq%ﬁﬂﬁ%
FoF ([): WA 2909 § =T 79 % a729 3947 1 g4 2 5 W ummEng FE1 S 2

o (1) :  Seats st fafo =i 2fe & A 59 6 sete dua i ands 2)
SUFd HYA F AAE B IR e § H waias 39 I 94

(1) Foq I 3 1L =M1 &t 2 |
(2) Fy I 317 IL =1 o8 981 2 |
(3) A I@# 2 g ua 11 @21 72 2

(4)  wuE Iad 78 2 g o I oF 2

Options :

5362282517. 1
5362282518. 2
5362282519. 3
5362282520. 4

Question Number : 31 Question Id : 536228648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

(1) File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362282521. 1
5362282522.2
5362282523. 3
5362282524. 4

Question Number : 31 Question Id : 536228648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATEHETT TFHE, ARF AR UH 9 UF Aeiaiad 4 § e 33 R
(1) IS STel SE (2) TeTEe =
(3) e (4) #A=E
Options :

5362282521. 1
5362282522.2
5362282523. 3
5362282524. 4

Question Number : 32 Question Id : 536228649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

53622825251
5362282526. 2
5362282527.3
5362282528. 4

Question Number : 32 Question Id : 536228649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) =iz HAT BT (2) =TSR T ETEAE
(3) T HN wEE (4) T FHRT AFEETT
Options :

5362282525. 1
5362282526.2
5362282527.3
5362282528. 4

Question Number : 33 Question Id : 536228650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1 Java (2) Block chain
(3) Block code (4) Python
Options :

5362282529. 1
5362282530. 2
5362282531. 3
5362282532. 4

Question Number : 33 Question Id : 536228650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i > B L e . i = Y & B [ L.y
2l Tl = hF TEieen] 1 TEe e S E

(1) = (2) == =
(3)  ==E WS (4) =
Options :

5362282529. 1
5362282530. 2
5362282531. 3
5362282532. 4

Question Number : 34 Question Id : 536228651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of our
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362282533. 1
5362282534.2
5362282535.3
5362282536. 4

Question Number : 34 Question Id : 536228651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= = e By E

wo (1) : 202 =1 1 Ha 951 ATER 7 A0 97 291 S99 1 Hecadol S 94 T4 |
e (1) : HTML U Ag0 H7S T & 1 T g1 98 95 S 999 55T 7 |
T FHAA F AT A AR [FHeT §H FA I

(1)  FFEIAR I 74 2 |

(2 FFEIAIZA =4z |

(8) v\ @ 2 fohg e I 7Terd 7 |

(4)  FF I 3mca 2 g wom L& 2|

Options :

5362282533. 1

5362282534.2

5362282535.3
5362282536. 4

Question Number : 35 Question Id : 536228652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362282537. 1
5362282538.2
5362282539. 3



5362282540. 4

Question Number : 35 Question Id : 536228652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CPS fi=iferfiga § o g ofiqea =g 27
(1) g T0H AR
(2)  THIA THH BRI

(38) == THiaFa givedsw

(4)  wEw THEFa Tem

Options :

5362282537. 1
5362282538.2
5362282539. 3
5362282540. 4

Question Number : 36 Question Id : 536228653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C). (D) and (E) only
(3)  (A). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362282541. 1



5362282542.2
5362282543.3
5362282544. 4

Question Number : 36 Question Id : 536228653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAfefad § ¥ FF F F99E [T i Seafed FEl gzt o ares O 557
) Y Hel T e

(C) U =l THAT F [0 T 72 Faor
(D) AT WEERA

o

H= T ™ et 8 @ wE T g
(1) F== (A), (B) 3 (B) (2) F= (A), (O). (D) ¥ (E)
(3) = (A), (C) ¥ (E) (4) == (B), (C). (D) 37 (E)

Options :

5362282541. 1
5362282542.2
5362282543. 3
5362282544. 4

Question Number : 37 Question Id : 536228654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362282545. 1
5362282546. 2
5362282547.3
5362282548. 4

Question Number : 37 Question Id : 536228654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafefga 9 @ = 4 @57 gad fasm @& 4 wfas 27

(A)  FE, TEER AR AGEEA
(B) =i = Tomw 3= o

(C)  =/@grar § =i

(D)  =%F 9T FA F e 'EEreE
(E) w=== a4

= fo1 = faeat 0 @ wd = g

(D F= (A). (B). (O) T (D) (2) = (A), (C) =R (D)

(3)  Fa= (A), (B). (C) 3 (E) (4) Fa= (B). (C). (D) 31 (E)
Options :

5362282545. 1
5362282546.2



5362282547.3
5362282548. 4

Question Number : 38 Question Id : 536228655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in increasing order of their installed capacities of wind
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

1) O<®<0)<® <@ @ O@<®<® <0 <@
(3) (D) =B) <((E)<(C)=(A) 4y (E)<(D)<(B)<(C)<(A)
Options :

5362282549. 1
5362282550. 2
5362282551. 3
5362282552. 4

Question Number : 38 Question Id : 536228655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 Tam et $1 geurug agar (2018 F1 foufd & 99ER) % §ed %9 9 7

@  =m

(B)  und

(C) 4T

D) %=

(E) =

< fot m foet 9 A A 3 R

1) DM=<E=(C)=B) <@ 2) D) <(E)<B)<(C)<®)

3B D=B=<E=0C=A 4) (E)=[D)=@B)=(C)=@A)
Options :

5362282549. 1
5362282550. 2
5362282551.3
5362282552. 4

Question Number : 39 Question Id : 536228656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Sunlight 1s a pre-requisite for the formation of photochemical smog in urban
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summer
seasons 1n urban areas of India.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement Il 1s true
Options :

5362282553. 1



5362282554. 2
5362282555. 3
5362282556. 4

Question Number : 39 Question Id : 536228656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wuA (I): 9= &l § e TEEEE - o A % e gd w wee v gaia # |

FA (D) : TFEEIEENT H-FET GG & TE] & § Wawe o dEE § an-an w6 A
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IUF FYAT % AR ° ARG Ao § @ wE I o
(1) = [ IL3MT 541 & |

(2) FHF 1A 24 =4 & |

(3) U= L@ = g A 11 7em = |

(4) w35 2 g o LT 2|

Options :

5362282553. 1

5362282554. 2

5362282555. 3
5362282556. 4

Question Number : 40 Question Id : 536228657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

5362282557. 1

5362282558. 2

5362282559. 3
5362282560. 4

Question Number : 40 Question Id : 536228657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Fr=r 21 A fau e 2 TR O w1 Al (A) AR g6 # 9 (R) FaE T R

HITRT (A) : ZorhT © =t 100 =91 = HA- 310 TEEEUe 3 01 =8E 19 & w1 i dfvas am
4 gfg Fa AT amar § wF ST B T E
% (R) : F2 AiaT28 TG1 1 STl He S13 SA9E1ss i 9o 3 HH w6l F |

1) (&) R ®) A T F @ R). A) F 7 ==
@ Q) i ®) 3 T E e R), (A) F A e T
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(49 (AT FE 2w (R) T 2
Options :
5362282557. 1
5362282558. 2

5362282559.3
5362282560. 4

Question Number : 41 Question Id : 536228658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Teacher-Education 1nstitutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362282561. 1
5362282562.2
5362282563. 3
5362282564. 4



Question Number : 41 Question Id : 536228658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Torers —foreqor T Fe=rfeifaa 9 o e gl 9 s 27

(1)  T-unie @) T
(3)  =EERE (4) o smehE
Options :

5362282561. 1
5362282562. 2
5362282563. 3
5362282564. 4

Question Number : 42 Question Id : 536228659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Universities of Nalanda. Taxsila and Vikramshila of ancient India are now
all located 1n the Indian Territory.

Statement IT: The entrance test of 1its own kind was prevalent 1n the ancient seats of
learning of India.

In the light of the above statements. choose the most appropriate answer from the options
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement Il 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362282565. 1
5362282566. 2



5362282567. 3
5362282568. 4

Question Number : 42 Question Id : 536228659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 2 T T E

FoH () :  TEH AR ® AE, q@Een AR [GmaEen & Gvarem gaeE § oW qEdE &9 A
A 7 |

FoF (1) : 97 = = 9187 gl § 997 29 AT TR =R TS0 T0ET 26l o |

ST FHUA F AT § IR Gt 3 F Haiae SugEd I I

(1) oA L #2920 2 |

(2) ¥ I 3R I 2A =96 77 7 |

(3)  wua 14 2 g e I a4 =71 2 |
(4) w1 = 77 7 g FoF L5 7 |

Options :

5362282565. 1
5362282566. 2
5362282567. 3
5362282568. 4

Question Number : 43 Question Id : 536228660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atal Ranking of higher education institutes and umversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362282569. 1
5362282570. 2
5362282571. 3
5362282572. 4

Question Number : 43 Question Id : 536228660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

z=a Tove Tt i favatamemt 1 s e fefafan 3 3 fm soeteat & oy 33 27
(1)  difers fasm gEaE

(2) TETER FH FEEal T

(3) 7 furen wfafy

(4)  TEEEIE = O GURUE Tgaa F Taed

Options :

5362282569. 1
5362282570. 2
5362282571.3
5362282572. 4

Question Number : 44 Question Id : 536228661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362282573. 1
5362282574.2
5362282575. 3
5362282576. 4

Question Number : 44 Question Id : 536228661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frald U 3evA (HeE ZTHSHE JH SN hiA-H SEEe god ATCHRIed (Aeh-2THsH) § Heiad 7 ¢
A)  FFE

(B) T

(C)  HerEmEa

(D)  FEHITEE

(B) =mam

Fr T ™ foredl 8 5 wE S 9

(1) #== (A) 3R (B) (2) Fa= (B) 31 (C)

(3)  Fa= (C) 3R (D) (4) A (D) 3 (E)

Options :
5362282573. 1
5362282574.2



5362282575.3
5362282576. 4

Question Number : 45 Question Id : 536228662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education 1n ancient India was not just acquisition of knowledge as
preparation for life in this world or Iife beyvond schooling but for complete
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_:iing and peace constituted the
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362282577. 1
5362282578. 2
5362282579. 3
5362282580. 4

Question Number : 45 Question Id : 536228662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FA (D) :  THEE 9RA A AeTATE e T Ievd 39 WER 3 e Ava el e F aw & e
F1 T T =g FATET FAT A AR A7 Sk qo7 STen wya o i w1 o)

FoA (II) : WA 12 % SAE 9gaane, SA0E 0 S0 9 Aeeeaas) e i g T\ m w1 9

I9GF FUAT o AT § FiEd e § ¥ Hal I 9

(1) w9 IR D2 8 3 |
(2) w13 I =M1 Tt 2 |
(3)  Fw 1T 2 g #94 I 7Ted 2 |
4 w1 awe ? g =e a8 2 |

Options :

5362282577. 1
5362282578. 2
5362282579. 3
5362282580. 4

Sub-Section Number : 3
Sub-Section Id : 53622827
Question Shuffling Allowed : Yes

Question Id : 536228663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘'value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative 1imagination of how this can be made possible 1n reality.
Thus, 1t runs the risk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", ete. This could be related to
the comfort-seeking nature of the senses and a part of the vital hife-force that wants to take
the easy way out. If one's core essential concept 1z fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarity that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. This in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ value of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make still or reject those thought formations that
fed by fear'. ‘anxiety’. ‘desire for compromised quicker success’. etc. And if a value or 1deal 1=

not clear. it can reach back to the pure mind for further clarity’.

Sub questions

Question Number : 46 Question Id : 536228664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience 1n life
Options :

5362282581. 1



5362282582.2
5362282583. 3
5362282584. 4

Question Number : 47 Question Id : 536228665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B)  past experiences of difficulty
(C) wild imaginations

(D) the inclination to be 1n a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3)  (B)and (C) (4) (C) and (D)
Options :

5362282585. 1
5362282586. 2
5362282587. 3
5362282588. 4

Question Number : 48 Question Id : 536228666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of Iife

(4) By being fashionable about the core concept of life

Options :

5362282589. 1
5362282590. 2
5362282591. 3
5362282592. 4

Question Number : 49 Question Id : 536228667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment will

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the very values sought after
Options :

5362282593. 1
5362282594. 2
5362282595.3
5362282596. 4

Question Number : 50 Question Id : 536228668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Todayv's world 1s not for any value system



Options :

5362282597. 1
5362282598. 2
5362282599. 3
5362282600. 4

Question Id : 536228663 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 536228664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) qe1 T ST Higd H il (2) TehfZa FTUTON F 9T =i |
(3) = = <hi (4) = AT i |
Options :

5362282581. 1
5362282582.2
5362282583. 3
5362282584. 4

Question Number : 47 Question Id : 536228665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g~ SATITHRA S Fisd 21 7, T2 =R F=ha 4 9 567 7 smanfa 27

(A) Hoa Ffgd sH W
(B) T % FiaT FIAA T

(C) FogE FATST T

(D) W =T H FEfd W

Foretifn & & A fasen =

(1) (A 71 (B) (2) (B) # (D)
(3) (B) 3 (C) (4) (C) #r (D)

Options :

5362282585. 1
5362282586. 2
5362282587.3
5362282588. 4

Question Number : 48 Question Id : 536228666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS =ATFT HeA—hirgddl * A1 H FHeT 9= o S A WAl 7 7

(1) =3 Hia- & a1 9§ A7 =9 & oG & G

(2) = O geat F AR ° a=s AN T |
(3) <A = ufEm F =W ° o9 7 |

Options :



5362282589. 1
5362282590. 2
5362282591. 3
5362282592. 4

Question Number : 49 Question Id : 536228667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HATH - & 0 geg—higd e + 3508 =

(1)  =Ea = AWE | e sem (2) FoATCHT FoTATT 309 F
(3) = S =R W S o (4) FUiE godi H1 SRR 0

Options :

5362282593. 1
5362282594.2
5362282595. 3
5362282596. 4

Question Number : 50 Question Id : 536228668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR % oiEE I SATEHYE R Y

(1)  gea-=hfgd e v 310w fa=m 2 |

(2)  HeA—Higaar =1 fagra gt = o0 wF =i afasnte 2 |
(3)  HeA-Tehfrgddl @ HE(4d 3% FH HULTCA® F=ET 6 7 |
(4) A = TEva T goa wonett % fo T8 2 |

Options :

5362282597. 1
5362282598. 2
5362282599. 3
5362282600. 4



PART II Assamese

Section Id : 53622810
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622828
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 536228669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘IieT St St Soticlas itat stets frdas s owee §T o3 oife (et ofF aft S=e
Wi’ @

(1) oAt e fios (@) ForEEs fos
(3) T TAFTas oo (@) fooe st froo
Options :

5362282601. 1
5362282602. 2
5362282603. 3
5362282604. 4

Question Number : 51 Question Id : 536228669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘NS STt ST Seoies Wiba Stel e SoniEe oeee 0T 599 e tare ofF Ot T
=i & I45]

(1) At e fioe @) ForEEs foe
(3) I TS How (4) T st froo
Options :

5362282601. 1
5362282602. 2
5362282603. 3
5362282604. 4

Question Number : 52 Question Id : 536228670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TP (7 AT ©iF |

Q% f&fa Frotr o= o 17~ 93 Srigais (arg-

(1) =S (2) oo
{3} BIPq Jb4 {4} T
Options :

5362282605. 1
5362282606. 2
5362282607. 3
5362282608. 4

Question Number : 52 Question Id : 536228670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘A 7 Fea e,
PG (5 T BiE |

MY o AT

93, fofa Fterter o9 #iw 1°- 9% Sz’ (0n-

(1)  offEs (2) sgoAE

{3} BIPq Jb4 {4) T
Options :

5362282605. 1
5362282606. 2
5362282607. 3
5362282608. 4

Question Number : 53 Question Id : 536228671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘orf 2=F Fifa pher Sz =g |
ot w13 FEateT gofaat 40 117 - 92 Frobo dfsffig sfas-

(1)  =IEsm 2) sTetfe
(3) Coltaieria e (4) e
Options :

5362282609. 1
5362282610. 2
5362282611. 3
5362282612. 4

Question Number : 53 Question Id : 536228671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘o1 22 Fifg JheT Sz =3 |
ot w3 FEateT Fofaat 42 117 - 92 Fefvo dfsffiy sfam-

(1)  =tEsm (2) swere
(3) TS EEte (4) TEm
Options :

5362282609. 1
5362282610. 2
5362282611.3
5362282612. 4

Question Number : 54 Question Id : 536228672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"Ballads and Tales of Assam" 5= "f‘ﬂ‘?ﬁ SCRet-

() fafs gty gt (2) agErTS oot
(3) ISR J1Y (4) e Eest
Options :

5362282613. 1
5362282614.2
5362282615.3
5362282616. 4

Question Number : 54 Question Id : 536228672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"Ballads and Tales of Assam" 15 5|f¥ =7 Foimet-

() Wit g I=at (2) ogEmTS oot
(3) ISR A @) T et



Options :

5362282613. 1
5362282614.2
5362282615. 3
5362282616. 4

Question Number : 55 Question Id : 536228673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fomor dfey nre Maa13T WiF G5t Fi7-

(1) W=
(2) =M
(3) AT
(4) R
Options :

5362282617. 1
5362282618. 2
5362282619. 3
5362282620. 4

Question Number : 55 Question Id : 536228673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



fowme! @femy Tre TeaidT Wi Qo Fi-

(1) wvarm
(2) T2
(3) AT
(4) REE]
Options :

5362282617. 1
5362282618. 2
5362282619. 3
5362282620. 4

Question Number : 56 Question Id : 536228674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tieg IwIeIE 9ot TAT FEE AT ASEreT oote Prmcer withwiey FeESt Sea-

(1) b (2) WgamE
(3) T8 T (4) TN % TSR
Options :

5362282621. 1
5362282622.2
5362282623. 3
5362282624. 4

Question Number : 56 Question Id : 536228674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tig IwieIe 9ot T4t FEE A ST oote mcer wifhetey Jerst Ta-

(1) L B TS (2) WY
(3) s e (4) T IR
Options :

5362282621. 1
5362282622.2
5362282623. 3
5362282624. 4

Question Number : 57 Question Id : 536228675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0
‘ot Tt - STty Oft gt ey 3fer engfemt e Afewtnidt va-

(1) ==Y st @) atiieis siafs
(3)  TE est (4) fomE et
Options :

5362282625. 1
5362282626. 2
5362282627. 3
5362282628. 4

Question Number : 57 Question Id : 536228675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0
‘- T -ET-=he ancariT «ff guE REY 3 el fat Afaesars ve-

(1) ==Y G saeat (2) ifiTE Tighe
(3) T et (4) Toregs eest

Options :

No

No



5362282625. 1
5362282626. 2
5362282627. 3
5362282628. 4

Question Number : 58 Question Id : 536228676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

eI ‘So-ritfaw sl weiaiter st eat BT SR -

(1) g 97! (2) W STTS!
(3)  o=s Tl (4) YT el
Options :

5362282629. 1
5362282630. 2
5362282631. 3
5362282632. 4

Question Number : 58 Question Id : 536228676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e Fro-vitfaw Fhae SeiitaiteT SgEts 9t (IWT PR 77e-

(1) =g 970! (2) =iT A=Te!
(3)  oI=E Twe (4) =g e
Options :

5362282629. 1
5362282630. 2
5362282631.3
5362282632. 4

Question Number : 59 Question Id : 536228677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

TS A IES Ioa1 T Q4T G T'A-

(1) fasE @& (2) etz gFET
3) feretve & (4) oot JIE!
Options :

5362282633. 1
5362282634.2
5362282635.3
5362282636. 4

Question Number : 59 Question Id : 536228677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tl e HifEs Ioat 9t 94T [TE T'A-

(1) ot @& (2) etz TEt
(3) wfretve @& (4) IO JIG!
Options :

5362282633. 1
5362282634.2
5362282635.3
5362282636. 4

Question Number : 60 Question Id : 536228678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TFeE A wifES Ioat Fat 94T [E -

1 g ES @ Attty st
3) fretss @& (4) SLFEEOr W
Options :

5362282637. 1
5362282638. 2
5362282639. 3
5362282640. 4

Question Number : 60 Question Id : 536228678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TFoE! AT WifES Ioa1 Tt 9T [WE T

1) fayEtE& (2) efmhim FE
3) ThTetve & (4) OECEo ST
Options :

5362282637. 1
5362282638. 2
5362282639. 3
5362282640. 4

Question Number : 61 Question Id : 536228679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘A Native' Taas for4t-Trett a1 firgeaat 7919 erisa-

(1)  STwEm CIEeT T (2 AT It
(3)  @fifeaT It (4) THEW cowEEa



Options :

5362282641. 1
5362282642. 2
5362282643. 3
5362282644. 4

Question Number : 61 Question Id : 536228679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘A Native' Taais forat-tmert st firgra ! o7 erdas=-

(1) TwE o g (2) AWt Ieat
(3)  @cfifeat It (4) THEN oot
Options :

5362282641. 1
5362282642.2
5362282643. 3
5362282644. 4

Question Number : 62 Question Id : 536228680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) ‘oos’s (2) ‘syifasrat oenErs
(3) wiEEE'w® (4) ‘TS
Options :

5362282645. 1
5362282646. 2
5362282647. 3
5362282648. 4



Question Number : 62 Question Id : 536228680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) ‘oolrs (2) ‘SRSt SEEre
(3) ‘wiEEAE'w (4) ‘TIPS
Options :

5362282645. 1
5362282646. 2
5362282647. 3
5362282648. 4

Question Number : 63 Question Id : 536228681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST Pes (S91E-5e9 a9 10 T°F

(1) o stropstt (2) wiceiat
(3)  wwiohEt (4) ST
Options :

5362282649. 1
5362282650. 2
5362282651. 3
5362282652. 4

Question Number : 63 Question Id : 536228681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) GioTr St (2) wITEt
(3) TS @) e
Options :

5362282649. 1
5362282650. 2
5362282651. 3
5362282652. 4

Question Number : 64 Question Id : 536228682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘T’ starsrt foatees afyy

(1) S (2) el

(3) Aot 4 Fe
Options :

5362282653. 1
5362282654. 2
5362282655.3
5362282656. 4

Question Number : 64 Question Id : 536228682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘rmre? ftEigiEt foatrees Ay

(1) IS (2) eSS
(3)  Sireeis 4) o



Options :

5362282653. 1
5362282654. 2
5362282655.3
5362282656. 4

Question Number : 65 Question Id : 536228683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I ST ='a

(1) 9% eyl Fongst (2) aft Sewg

3) aRgTs @) it fe
Options :

5362282657. 1
5362282658. 2
5362282659. 3
5362282660. 4

Question Number : 65 Question Id : 536228683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e N e
(1) 9% @ Fongst (2) «ft Tewg
(3) ARY T @) afit e
Options :

5362282657. 1
5362282658. 2
5362282659. 3
5362282660. 4



Question Number : 66 Question Id : 536228684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et ‘Tt ST Bre-

(1) s wisatfs (2) e siteatfs
(3) A s (4) wEme Aaatfs
Options :

5362282661. 1
5362282662. 2
5362282663. 3
5362282664. 4

Question Number : 66 Question Id : 536228684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gt ‘Tt ST ore-

(1) =l oisaifs (2) STeie teathe
(3) Al wetfe (4) wEma wEaife
Options :

5362282661. 1
5362282662. 2
5362282663. 3
5362282664. 4

Question Number : 67 Question Id : 536228685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT TT CLEITER Tio Siosdie 456 T4 o) 44T S0oois: 3'a-

(1) i (2) wCHle
(3) few (4) TATCoT
Options :

5362282665. 1
5362282666. 2
5362282667. 3
5362282668. 4

Question Number : 67 Question Id : 536228685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SIS PAIT CLEMTEET Tre SiNeITie ATSH 19 ot 244 SweSiot 27 -

(1) e (2) wCHle
(3) Aftw (4) TATCoT
Options :

5362282665. 1
5362282666. 2
5362282667. 3
5362282668. 4

Question Number : 68 Question Id : 536228686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) T (2) =TT
(3)  TFART (4) Tecew
Options :

5362282669. 1
5362282670. 2
5362282671.3
5362282672. 4

Question Number : 68 Question Id : 536228686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(L mF (2) T
(3) TR (4) Terewt
Options :

5362282669. 1
5362282670. 2
5362282671. 3
5362282672. 4

Question Number : 69 Question Id : 536228687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



{Tﬁiﬂzﬂg "ig (g 992
39 9SS (oTies 5o 492 1 -*Eac fefoe 92 Ioaifts ow-

(1) oien 2) wit
(3) (4) ToIoT
Options :

5362282673. 1
5362282674.2
5362282675.3
5362282676. 4

Question Number : 69 Question Id : 536228687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

33 i =1eT o 492 17 -Fag 99w 92 IeA10T -

(1)  ©fo (2) wsfoat

(3) (4) T
Options :

5362282673. 1
5362282674.2
5362282675. 3
5362282676. 4

Question Number : 70 Question Id : 536228688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WG T 11 si-

(1) CaF (2) ©eHAlE
(3) = (@ e
Options :

5362282677. 1
5362282678. 2
5362282679. 3
5362282680. 4

Question Number : 70 Question Id : 536228688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[qTE 999 "ET wig-

(1)  Terrd (2) TR
(3) Ty 4 ==
Options :

5362282677. 1
5362282678. 2
5362282679. 3
5362282680. 4

Question Number : 71 Question Id : 536228689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



G | B e ol ) O e O o o T
Tater ey Foot UAfE 4fg =

oiF iy papie 9 O |

(TGl *It, gt Sat e west siee 117

-3 FigorTier dfefAlty Tt 399y 'a-

(1) =a=e (2 9=
(3) Jreew @ =gs
Options :

5362282681. 1
5362282682. 2
5362282683. 3
5362282684. 4

Question Number : 71 Question Id : 536228689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘TIAT FICE A Al P ey 3

Safer mez oot Ay Ay A=

oiF Wiy GApe 9 @i |

(TGt “IBt, gt et e eiest siceT 117

-3, FiNeiwee dheffty =t =Ry g'a-

(1) ISHIGEY (2)

(3) dieed (4)

Options :

5362282681. 1
5362282682. 2
5362282683. 3



5362282684. 4

Question Number : 72 Question Id : 536228690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Best words 1n best m"der'—‘s[%f Tlaetg Aot e o G ofam

(1)  sTeay (2) T
(3) FrElEm 4 TS o
Options :

5362282685. 1
5362282686. 2
5362282687. 3
5362282688. 4

Question Number : 72 Question Id : 536228690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Best words 1n best order'-ﬁ Flaolg At ST T919 (G Tlarm

(1) szvay (2) ThEAr
(3) FrelEm (4) TS =T
Options :

5362282685. 1
5362282686. 2
5362282687. 3
5362282688. 4

Question Number : 73 Question Id : 536228691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) = SoEeT (2) TF SIS
(3) A ot (4) TEFIE ST
Options :

5362282689. 1
5362282690. 2
5362282691. 3
5362282692. 4

Question Number : 73 Question Id : 536228691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) = SoEm (2) TH SR
(3) i oy (4) TEITT AT
Options :

5362282689. 1
5362282690. 2
5362282691. 3
5362282692. 4

Question Number : 74 Question Id : 536228692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A short story 1= a prose narration requiring from half an hour to one or two hours in 1its

perusal’ -{% ﬁ“‘ﬂﬁ steEt famels SiEid 37a-

(1) ST ATETe Coft (2) «3p.f&.@es
(3)  =ifoen wifee (4) TSEG T
Options :

5362282693. 1
5362282694. 2
5362282695. 3
5362282696. 4

Question Number : 74 Question Id : 536228692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘A short story 1= a prose narration requiring from half an hour to one or two hours in its

perusal’ —{% ﬁ‘“‘aﬁ sieeEt fqmae statdt g7e-

(1) GTSHT ATE Coff (2) 93p.f&.@ew
(3)  FifoenT wifeds (4) TiEEs T
Options :

5362282693. 1
5362282694. 2
5362282695. 3
5362282696. 4

Question Number : 75 Question Id : 536228693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘FReeitg IS’ (Oedipus complex) T TEMMCBIT FBi-

(1)  tem (2) foomre FEm
(3)  af¥Ece (4) TRferT ST
Options :

5362282697. 1
5362282698. 2
5362282699. 3
5362282700. 4

Question Number : 75 Question Id : 536228693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘FRgeitn Taras’ (Oedipus complex) T TowCHT F8i-

(1)  tem (2) foomre TEm
(3)  afg8cea (4) SaferErT csE
Options :

5362282697. 1
5362282698. 2
5362282699. 3
5362282700. 4

Question Number : 76 Question Id : 536228694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(8) TRAIR @) =R e ifkew
Options :

5362282701. 1
5362282702. 2
5362282703. 3
5362282704. 4

Question Number : 76 Question Id : 536228694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= @ =R oeTiE TR
Options :

5362282701. 1
5362282702. 2
5362282703. 3
5362282704. 4

Question Number : 77 Question Id : 536228695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘et RefE 7% sfsst o’ - Sgo swfes ‘Tatfoat =wot

(1) e feFat (2) =it et
(3) YT foFt (4) TIPS fawat
Options :

5362282705. 1
5362282706. 2
5362282707. 3
5362282708. 4

Question Number : 77 Question Id : 536228695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘Raft et 7l smfsst o’ - 5o sy ‘Sufeat wswot

(1) i et (2) =ermitHeet fepat
(3) FrEre et (4) Tt fapat
Options :

5362282705. 1
5362282706. 2
5362282707. 3
5362282708. 4

Question Number : 78 Question Id : 536228696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AN, @, TEST, ARG~ ORI BT AT cfal G RwCors e :

(1)  =iESt-oidt (2) e
(3) ST (4) P
Options :

5362282709. 1
5362282710. 2
5362282711.3
5362282712. 4

Question Number : 78 Question Id : 536228696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  wwE-eier (2 =
(3)  Sewe (4) P
Options :

5362282709. 1
5362282710. 2
5362282711.3
5362282712. 4

Question Number : 79 Question Id : 536228697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wttatersiat Grtetate e sttt 5 4t-
(1) %55 (2) xwobt
(3) vt (4) =5of



Options :

5362282713. 1
5362282714. 2
5362282715.3
5362282716. 4

Question Number : 79 Question Id : 536228697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TitatereiSiat Sererate TRE seawfaa 5 u-

(1)  g5Gf (2) %obt
(3) kvt (4) 255
Options :

5362282713. 1
5362282714.2
5362282715. 3
5362282716. 4

Question Number : 80 Question Id : 536228698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘P IF ® WIS RS coAtEt 7 -

(1) TRAmRs (2) B =
(3) T T (4) TIF Gt
Options :

5362282717. 1
5362282718.2
5362282719.3
5362282720. 4



Question Number : 80 Question Id : 536228698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘P oitw W ortdes TeaRie ot A -

(1) o Umfs (2) TR i
(3) TR T (4) Ty At
Options :

5362282717. 1
5362282718. 2
5362282719. 3
5362282720. 4

Question Number : 81 Question Id : 536228699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“fife SiElT @ WiT 7 Ut Shets IFalT “oEmE SfE TS Tuw coffat 1te

(1)  @iz=ot (2) Towsot
3 s (4) BreeDr
Options :

5362282721. 1
5362282722.2
5362282723. 3
5362282724. 4

Question Number : 81 Question Id : 536228699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IS ST TET [T 5] U7 SO IFAT TR SiEP AT 55 fEt T

(1) a5t (2) TEHot
(3)  TateTot (4) SESH
Options :

5362282721. 1
5362282722.2
5362282723. 3
5362282724. 4

Question Number : 82 Question Id : 536228700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) s fefe (2) o wiifée camia &
(3)  TastaT (4) e fef
Options :

5362282725. 1
5362282726. 2
5362282727.3
5362282728. 4

Question Number : 82 Question Id : 536228700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  catwis ol (2) ¥ ciifte i fef
(3)  twamArsiar ferfH (4) o fef

Options :



5362282725. 1
5362282726.2
5362282727. 3
5362282728. 4

Question Number : 83 Question Id : 536228701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BINE (o2 [Ayen 839 WS anfes sy g'a

1) = (2) =T
(3) Ao (4) s I oEaf
Options :

5362282729. 1
5362282730. 2
5362282731. 3
5362282732. 4

Question Number : 83 Question Id : 536228701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GINE (502 [Ayer 833 WS anfes sty g's

(1) RE (2) =g
3 A (4) s I ToEAfY
Options :

5362282729. 1
5362282730. 2
5362282731. 3



5362282732. 4

Question Number : 84 Question Id : 536228702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

witew 7ow faife FMaotamtss t-w'as geter oitfg g7e-

(1)  ©feT FoaEEat (2) = FoRpIRAT
(3) Tfcwates (4) TFE
Options :

5362282733. 1
5362282734.2
5362282735. 3
5362282736. 4

Question Number : 84 Question Id : 536228702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i T hfe MauiamEs -9 Ty o 176-

(1) ST FoRTA (2) = FoupTEAt
(3) frrates (4) GerFiPlE
Options :

5362282733. 1
5362282734.2
5362282735.3
5362282736. 4

Question Number : 85 Question Id : 536228703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s Prar iRy o 13-

(1) sterotat (2) Fiferamis
(3) Tazie (4) TENIEEAE
Options :

5362282737. 1
5362282738. 2
5362282739.3
5362282740. 4

Question Number : 85 Question Id : 536228703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= P ARy o F19-

(1) SteTeiet (2) TFiferamis
(3) [ZsEAL] (4) TeTiEEAlE
Options :

5362282737. 1
5362282738. 2
5362282739. 3
5362282740. 4

Question Number : 86 Question Id : 536228704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TrsiAtT It Jiafiers Tine dufone fafeasy o7 24

(1) oiEgN (2) TR
3)  wiogl (4) =P
Options :

5362282741. 1
5362282742.2
5362282743. 3
5362282744. 4

Question Number : 86 Question Id : 536228704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TtsiAtT It Jiafiems Fine dofone fafeay o7 2

(1) DIEEOE (2) TEFH
(3)  wriog @) =y
Options :

5362282741. 1
5362282742.2
5362282743. 3
5362282744. 4

Question Number : 87 Question Id : 536228705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5590 BAw TR gt ‘The Name and Nature of Comparative Literature’ T Fgddd
JoRreiSaT a1

(1) @RS =i (2) T
(3) WA e (4) otegAs
Options :

5362282745. 1
5362282746. 2
5362282747.3
5362282748. 4

Question Number : 87 Question Id : 536228705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

%0 Bwe ATt ffiat ‘“The Name and Nature of Comparative Literature’ o S=4as
JoRrSTET A1

(1) s wis (2) Tsheo
(3) @ @S (4) =D
Options :

5362282745. 1
5362282746. 2
5362282747. 3
5362282748. 4

Question Number : 88 Question Id : 536228706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



HETIET iy HYEET A4S (influence) T ST FHITSIE @y BFF T Y6t 771

(1) ==t 9= (2 i e
(3) T Y= (4) TS Y=
Options :

5362282749. 1
5362282750. 2
5362282751.3
5362282752. 4

Question Number : 88 Question Id : 536228706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

PEFIETE AT WEEAT ST (influence) T WY AISILT @i BFF Cofiat Yoot 77o1-

1) =t e (2) oFoR I=
3) e L= (4) FIASR YT
Options :

5362282749. 1
5362282750. 2
5362282751.3
5362282752. 4

Question Number : 89 Question Id : 536228707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o g -

(1) cooat (2) &>
(3) faem (4) =R
Options :

5362282753. 1
5362282754.2
5362282755. 3
5362282756. 4

Question Number : 89 Question Id : 536228707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ot figeT -

(1) cooat (2) &>
(3) == (4) RS
Options :

5362282753. 1
5362282754.2
5362282755. 3
5362282756. 4

Question Number : 90 Question Id : 536228708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ZarmA9 A Doll's House Fioas Hi04fH “ofoeTtHe’ eI ST Ce G PAToS '

(1) =7 T30t (2) “ToresTw gt
(3) wzm &t (4) ST ot
Options :

5362282757. 1
5362282758. 2
5362282759. 3
5362282760. 4

Question Number : 90 Question Id : 536228708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ZarmA9 A Doll's House Fioas Hi04fH “ofoeTtHe’ eI ST Ce G PAToS '

(1) =7 T30t (2) “ToresTw gt
(3) wzm &t (4) ST ot
Options :

5362282757. 1
5362282758. 2
5362282759. 3
5362282760. 4

Question Number : 91 Question Id : 536228709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ifaes SRetafir A=91T Sots Yer-
(A)  oEtEt =Bt oSt

(B) @I frar
(C) ST ©he

D) craEss

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (B) & (D) only
Options :

5362282761. 1
5362282762.2
5362282763. 3
5362282764. 4

Question Number : 91 Question Id : 536228709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ifaes SRetafir A=91T Sots Yer-
(A)  oEtEt =Bt oSt

(B) @I frar
(C) ST ©he

D) craEss

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (B) & (D) only
Options :

5362282761. 1
5362282762.2
5362282763. 3
5362282764. 4

Question Number : 92 Question Id : 536228710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tty @e-37 ¥ RS ofi] 1% @ife-5 gfoT e oifstt fEs sfoe It e mifs
T | BitE got (SfE Ye -

(A) AT=7qt

(B) TS

(C) EEETrst
(D) TSt

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only (4) (A) & (D) only
Options :

5362282765. 1
5362282766. 2
5362282767. 3
5362282768. 4

Question Number : 92 Question Id : 536228710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Tty @e-37 ¥ RS ofi] 1% @ife-5 gfoT e oifstt fEs sfoe It e mifs
T | BitE got (SfE Ye -

(A) AT=7qt

(B) TS

(C) EEETrst
(D) TSt

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only (4) (A) & (D) only
Options :

5362282765. 1
5362282766. 2
5362282767. 3
5362282768. 4

Question Number : 93 Question Id : 536228711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



* TICET BlEl 8 TR Yo

(A)  Fete
(B) =l

(C) e

D) coT=ife

Choose the correct answer from the options given below:

(1) (A & (D) only (2) (B) & (D) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282769. 1
5362282770. 2
5362282771. 3
5362282772. 4

Question Number : 93 Question Id : 536228711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



* TICET BlEl 8 TR Yo

(A)  Fete
(B) =l

(C) e

D) coT=ife

Choose the correct answer from the options given below:

(1) (A & (D) only (2) (B) & (D) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282769. 1
5362282770. 2
5362282771. 3
5362282772. 4

Question Number : 94 Question Id : 536228712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Afta 4RT 3=1-

(A) o™ TTEar
B el &
(C) TABFoEO

, =
(D) TEuEIhaES TlEw

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A) & (D) only
Options :

5362282773. 1
5362282774.2
5362282775. 3
5362282776. 4

Question Number : 94 Question Id : 536228712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Afta 4RT 3=1-

(A) o™ TTEar
B el &
(C) TABFoEO

, =
(D) TEuEIhaES TlEw

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A) & (D) only
Options :

5362282773. 1
5362282774.2
5362282775. 3
5362282776. 4

Question Number : 95 Question Id : 536228713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRS T T Foit TEACHSiT Yo

&) B Yem
B) ot
(C) =i st
D) T

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (B) & (D) only (4) (C) & (D) only
Options :

5362282777. 1
5362282778. 2
5362282779. 3
5362282780. 4

Question Number : 95 Question Id : 536228713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRS T T Foit TEACHSiT Yo

&) B Yem
B) ot
(C) =i st
D) T

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (B) & (D) only (4) (C) & (D) only
Options :

5362282777. 1
5362282778. 2
5362282779. 3
5362282780. 4

Question Number : 96 Question Id : 536228714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) oS o
(B)  wagw

© fox

(D) IS

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (D) only (4) (C) & (D) only
Options :

5362282781. 1
5362282782.2
5362282783. 3
5362282784. 4

Question Number : 96 Question Id : 536228714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) oS o
(B)  wagw

© fox

(D) IS

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (D) only (4) (C) & (D) only
Options :

5362282781. 1
5362282782.2
5362282783. 3
5362282784. 4

Question Number : 97 Question Id : 536228715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



et fefrs ferat sffdm ge-

(A) e TgEat
(B) ormEst
(C) i Bt
(D) =S

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (B) & (D) only
(3) (A) & (B) only (4) (C) & (D) only
Options :

5362282785. 1
5362282786. 2
5362282787. 3
5362282788. 4

Question Number : 97 Question Id : 536228715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



et fefrs ferat sffdm ge-

(A) e TgEat
(B) ormEst
(C) i Bt
(D) =S

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (B) & (D) only
(3) (A) & (B) only (4) (C) & (D) only
Options :

5362282785. 1
5362282786. 2
5362282787. 3
5362282788. 4

Question Number : 98 Question Id : 536228716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) wiifsest cetms I

(B) 9% WiF T Fa
(C) =¥ 3ot Wiz

® TP I g

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (A) & (C) only
(3) (B) & (D) only (4) (C) & (D) only
Options :

5362282789. 1
5362282790. 2
5362282791. 3
5362282792. 4

Question Number : 98 Question Id : 536228716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) wiifsest cetms I

(B) 9% WiF T Fa
(C) =¥ 3ot Wiz

® TP I g

Choose the correct answer from the options given below:

(1) (A) & (D) only (2) (A) & (C) only
(3) (B) & (D) only (4) (C) & (D) only
Options :

5362282789. 1
5362282790. 2
5362282791. 3
5362282792. 4

Question Number : 99 Question Id : 536228717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W é1 G ':‘Jﬁ'

&) e Fice 916 g Wi ot
(B) w 909 99 29

(C) <[t witat wiEtg

(D) TEferet i = w'IeaE

Choose the correct answer from the options given below:

(1) (A & (C) only (2) (B) & (D) only
(3) (C) & (D) only (4) (A) & (B) only
Options :

5362282793. 1
5362282794. 2
5362282795. 3
5362282796. 4

Question Number : 99 Question Id : 536228717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



W é1 G ':‘Jﬁ'

&) e Fice 916 g Wi ot
(B) w 909 99 29

(C) <[t witat wiEtg

(D) TEferet i = w'IeaE

Choose the correct answer from the options given below:

(1) (A & (C) only (2) (B) & (D) only
(3) (C) & (D) only (4) (A) & (B) only
Options :

5362282793. 1
5362282794. 2
5362282795. 3
5362282796. 4

Question Number : 100 Question Id : 536228718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  miEret

B) =T AfeE
€ Ry

(D) ST

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A) & (C) only
Options :

5362282797. 1
5362282798. 2
5362282799. 3
5362282800. 4

Question Number : 100 Question Id : 536228718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)  miEret

B) =T AfeE
€ Ry

(D) ST

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (C) & (D) only (4) (A) & (C) only
Options :

5362282797. 1
5362282798. 2
5362282799. 3
5362282800. 4

Question Number : 101 Question Id : 536228719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o] Bt AT ety SotiaenE Y-
A) i o At

B) I g

(C)  T=ar =i e

D) o =i sioat

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (D) only
(3)  (B) & (C) only 4) (C) & (D) only
Options :

5362282801. 1
5362282802. 2
5362282803. 3
5362282804. 4

Question Number : 101 Question Id : 536228719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o] Bt AT ety SotiaenE Y-
A) i o At

B) I g

(C)  T=ar =i e

D) o =i sioat

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (D) only
(3)  (B) & (C) only 4) (C) & (D) only
Options :

5362282801. 1
5362282802. 2
5362282803. 3
5362282804. 4

Question Number : 102 Question Id : 536228720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATETE CoNFIT 2e YeT-

(A) Assamese Proverbs
(B) Folk Literature of Assam
(C) Ballads and Tales of Assam

(D)  Studies in Early Assamese Literature

Choose the correct answer from the options given below:

(1) (&) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only (4) (D) & (A) only
Options :

5362282805. 1
5362282806. 2
5362282807. 3
5362282808. 4

Question Number : 102 Question Id : 536228720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ATETE CoNFIT 2e YeT-

(A) Assamese Proverbs
(B) Folk Literature of Assam
(C) Ballads and Tales of Assam

(D)  Studies in Early Assamese Literature

Choose the correct answer from the options given below:

(1) (&) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only (4) (D) & (A) only
Options :

5362282805. 1
5362282806. 2
5362282807. 3
5362282808. 4

Question Number : 103 Question Id : 536228721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



rffres gor-

(A) Tt onis Sifacet cotatce e
©izete Tifacat 7o |

B) TS TS oF ACFET
FieTTe ARed 713,
QT (@Fleite 9@t N
aTIeTt T § B |

(C)  TICeTy Jletrer wors) iy &F
BFCot A ot Ateriest
TG Ore B A |

(D) oibice oftal atTat @it

wace YtfEat gt ot
wuiq or WUegg 19 |

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A & (D) only
Options :

5362282809. 1
5362282810. 2
5362282811.3



5362282812. 4

Question Number : 103 Question Id : 536228721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



rffres gor-

(A) Tt onis Sifacet cotatce e
©izete Tifacat 7o |

B) TS TS oF ACFET
FieTTe ARed 713,
QT (@Fleite 9@t N
aTIeTt T § B |

(C)  TICeTy Jletrer wors) iy &F
BFCot A ot Ateriest
TG Ore B A |

(D) oibice oftal atTat @it

wace YtfEat gt ot
wuiq or WUegg 19 |

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A & (D) only
Options :

5362282809. 1
5362282810. 2
5362282811.3



5362282812. 4

Question Number : 104 Question Id : 536228722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(a) 7 EfEeay
B) ARFTaE

€) “FIe auT Lo
(D) statag et Foa

Choose the correct answer from the options given below:

(1)  (B) & (C) only (2) (B) & (D) only
(3) (A) & (C) only (4) (A) & (D) only
Options :

5362282813. 1
5362282814.2
5362282815.3
5362282816. 4

Question Number : 104 Question Id : 536228722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(&) 7 ey

(B) ARF= R

(C) “Ets qsiw Yot
(Dy  si=rEs Fie Fee

Choose the correct answer from the options given below:

(1)  (B) &(C) only (2) (B) & (D) only
(3) (A) & (C) only (4) (A) & (D) only
Options :

5362282813. 1
5362282814.2
5362282815.3
5362282816. 4

Question Number : 105 Question Id : 536228723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) T B

(B) TS otef

(C) wifag o= e
(D) oot o= =it

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282817. 1
5362282818. 2
5362282819. 3
5362282820. 4

Question Number : 105 Question Id : 536228723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) T B

(B) TS otef

(C) wifag o= e
(D) oot o= =it

Choose the correct answer from the options given below:

(1) (A) & (B) only (2) (B) & (C) only
(3) (A & (C) only (4) (C) & (D) only
Options :

5362282817. 1
5362282818. 2
5362282819. 3
5362282820. 4

Question Number : 106 Question Id : 536228724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A)
(B)
(C)
(D)

T Ol

Choose the correct answer from the options given below:

(1)
(3)

Options :

(A) & (B) only
(A) & (D) only

5362282821. 1
5362282822.2
5362282823. 3
5362282824. 4

Question Number : 106 Question Id : 536228724 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

(A) & (C) only
(B) & (C) only

: No Is Question Mandatory : No



(A)
(B)
(C)
(D)

T Ol

Choose the correct answer from the options given below:

(1)
(3)

Options :

(A) & (B) only
(A) & (D) only

5362282821. 1
5362282822.2
5362282823. 3
5362282824. 4

Question Number : 107 Question Id : 536228725 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

(A) & (C) only
(B) & (C) only

: No Is Question Mandatory : No



(A) AfEE Tt oiF ofF oE
(B) waog . A5 WiF Aoy
(C) ifRer-IW Gt

(D)  TotrT wigfee siceTioat

Choose the correct answer from the options given below:

(1) (A) & (C) only (2) (B) & (C) only
(3) (A & (D) only 4) (A) & (B)only
Options :

53622828251
5362282826. 2
5362282827.3
5362282828. 4

Question Number : 107 Question Id : 536228725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) AfEE Tt oiF ofF oE
(B) waog . A5 WiF Aoy
(C) ifRer-IW Gt

(D)  TotrT wigfee siceTioat

Choose the correct answer from the options given below:

(1) (A) & (C) only (2) (B) & (C) only
(3) (A & (D) only 4) (A) & (B)only
Options :

53622828251
5362282826. 2
5362282827.3
5362282828. 4

Question Number : 108 Question Id : 536228726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) T TSPl T (AfET

(B) TPt Al s el
To% TS it |

(C) wiad (oroters YT Fioce
TR L =

(D) wiifsT cterat ang vt <R
ST ST i |

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A) & (D) only
Options :

5362282829. 1
5362282830. 2
5362282831.3
5362282832. 4

Question Number : 108 Question Id : 536228726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) T TSPl T (AfET

(B) TPt Al s el
To% TS it |

(C) wiad (oroters YT Fioce
TR L =

(D) wiifsT cterat ang vt <R
ST ST i |

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A) & (D) only
Options :

5362282829. 1
5362282830. 2
5362282831.3
5362282832. 4

Question Number : 109 Question Id : 536228727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FaTIE I FIoiT Ya
&) T It g

(B)  Siferpt

(C) wens® Sifat

D) «ft 56 gl oot

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4) (A) & (D) only
Options :

5362282833. 1
5362282834.2
5362282835.3
5362282836. 4

Question Number : 109 Question Id : 536228727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FATIE TFA1T T YT

(A) et st I

(B)  Sffere™t

(C) vwerew ofiat

(D)  aft gt am=’E ot

Choose the correct answer from the options given below:

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (C) & (D) only 4 (A) & (D) only



Options :

5362282833. 1
5362282834.2
5362282835.3
5362282836. 4

Question Number : 110 Question Id : 536228728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A)

8
¢ 54 4

Choose the correct answer from the options given below:

(1)  (A) & (C) only (2) (C) & (D) only
(3)  (B) & (D) only (4) (D) & (A) only
Options :

5362282837. 1
5362282838. 2
5362282839.3
5362282840. 4

Question Number : 110 Question Id : 536228728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) M
B) T
(C) ot
(D) e

Choose the correct answer from the options given below:

(1)  (A) & (C) only (2) (C) & (D) only
(3)  (B) & (D) only 4) (D) & (A) only
Options :

5362282837. 1
5362282838. 2
5362282839.3
5362282840. 4

Question Number : 111 Question Id : 536228729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FATEE BeATe JadiT Aeere It 7 o Ao TifET dotw NRees Stedt TS TFIvEs st
(A) ©eTs TFImE 7 F TI0FT W 29T A7t Tt 1R

(B) ORWE AFeAETS ERAGTTSNT SAMEE sheat Sy

(C) wisdle Ji@al =¥ 3 Fo fiRfer Sivt TaxT =

(D) ThSTS @=eT TaE FIEH 1o oo

9919 TEIPTIEE TS ers st Reg wifie daeoss ¢

(1)  (A) & (D) only (2) (&) & (B) only
(3)  (B) & (C) only 4) (C) & (D) only
Options :

5362282841. 1
5362282842.2
5362282843. 3
5362282844. 4

Question Number : 111 Question Id : 536228729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FATEE BeATe JadiT Aeere It 7 o Ao TifET dotw NRees Stedt TS TFIvEs st
(A) ©eTs TFImE 7 F TI0FT W 29T A7t Tt 1R

(B) ORWE AFeAETS ERAGTTSNT SAMEE sheat Sy

(C) wisdle Ji@al =¥ 3 Fo fiRfer Sivt TaxT =

(D) ThSTS @=eT TaE FIEH 1o oo

9919 TEIPTIEE TS ers st Reg wifie daeoss ¢

(1)  (A) & (D) only (2) (&) & (B) only
(3)  (B) & (C) only 4) (C) & (D) only
Options :

5362282841. 1
5362282842.2
5362282843. 3
5362282844. 4

Question Number : 112 Question Id : 536228730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘T AoeaT OF ol ST ot fifs-aifrey g ... @3 et e g
Rrfeeia et Wiis oo 5t 17 anfis AtfEew fesiy wrsdT 9o-

(A) SE-Tghod oF Ioat AT FeToT |
(B) o9 o fEfta SiE o |

(C) Q31T (e @ENT-BeHIT 79 Thow |
(D) YT TN wE ETITE =T ol T913 |

9919 TEIPTIEE TS ers st g wifis daeoss ¢

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (A) & (D) only 4) (C) & (D) only
Options :

5362282845. 1
5362282846. 2
5362282847. 3
5362282848. 4

Question Number : 112 Question Id : 536228730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘T AoeaT OF ol ST ot fifs-aifrey g ... @3 et e g
Rrfeeia et Wiis oo 5t 17 anfis AtfEew fesiy wrsdT 9o-

(A) SE-Tghod oF Ioat AT FeToT |
(B) o9 o fEfta SiE o |

(C) Q31T (e @ENT-BeHIT 79 Thow |
(D) YT TN wE ETITE =T ol T913 |

9919 TEIPTIEE TS ers st g wifis daeoss ¢

(1)  (A) & (B) only (2) (B) & (C) only
(3)  (A) & (D) only 4) (C) & (D) only
Options :

5362282845. 1
5362282846. 2
5362282847. 3
5362282848. 4

Question Number : 113 Question Id : 536228731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TFAME, PE INoie AT eld oNifeE | W FEAl oiF Wghos AT AifeT | FE-
(A) BT wEi PRty o S IeareTet GIEEe AgEs |

B) iy afer T =0f g o= ogghes TelEe! RIS ot T |

(C)  93EIT ST, G0 IE|A1T AT Y |

(D) GEEE O Aol T Ie |

991 TETPTES YIS O At e Wik dxees 2

(1) (A & (B)only (2) (A) & (C) only
(3)  (B) & (C) only 4 (C) & (D) only
Options :

5362282849. 1
5362282850. 2
5362282851. 3
5362282852. 4

Question Number : 113 Question Id : 536228731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



TFAME, PE INoie AT eld oNifeE | W FEAl oiF Wghos AT AifeT | FE-
(A) BT wEi PRty o S IeareTet GIEEe AgEs |

B) iy afer T =0f g o= ogghes TelEe! RIS ot T |

(C)  93EIT ST, G0 IE|A1T AT Y |

(D) GEEE O Aol T Ie |

991 TETPTES YIS O At e Wik dxees 2

(1) (A & (B)only (2) (A) & (C) only
(3)  (B) & (C) only 4 (C) & (D) only
Options :

5362282849. 1
5362282850. 2
5362282851. 3
5362282852. 4

Question Number : 114 Question Id : 536228732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘Fréa-TIEr 9T Fog offts sTifEer 1” FE-
(A) T Gl 4e o
(B) % T7-Ab@AE BI9F
(C) -4 53 SowhEe U2 4T Y&z 3o
D) s, Soitta It Hro-wivnT 7 =i Fidaw IfaT @rarfT

ST TEIPTIES WHITe oo [t N i agaemsn 7

(1) (&) & (C) only (2) (B) & (D) only
(3)  (A) & (B) only 4) (C) & (D) only
Options :

5362282853. 1
5362282854. 2
5362282855.3
5362282856. 4

Question Number : 114 Question Id : 536228732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



‘Fréa-TIEr 9T Fog offts sTifEer 1” FE-
(A) T Gl 4e o
(B) % T7-Ab@AE BI9F
(C) -4 53 SowhEe U2 4T Y&z 3o
D) s, Soitta It Hro-wivnT 7 =i Fidaw IfaT @rarfT

ST TEIPTIES WHITe oo [t N i agaemsn 7

(1) (&) & (C) only (2) (B) & (D) only
(3)  (A) & (B) only 4) (C) & (D) only
Options :

5362282853. 1
5362282854. 2
5362282855.3
5362282856. 4

Question Number : 115 Question Id : 536228733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iz oty Tow s fe f5fas g e | wEd-

A =frews s wE
B Ffes e e aigee e e wiee

© f=fie aomes

D) ot e Mo 3T St 3 303 3 vt =7

S99 TEIPTRE TYtEe ToT ! few ot dedest ¢

(1)  (B) & (D) only (2) (A) & (B) only
(3) (B) & (C) only (4) (C) & (D) only
Options :

5362282857. 1
5362282858. 2
5362282859. 3
5362282860. 4

Question Number : 115 Question Id : 536228733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iz oty Tow s fe f5fas g e | wEd-

A =frews s wE
B Ffes e e aigee e e wiee

© f=fie aomes

D) ot e Mo 3T St 3 303 3 vt =7

S99 TEIPTRE TYtEe ToT ! few ot dedest ¢

(1)  (B) & (D) only (2) (A) & (B) only
(3) (B) & (C) only (4) (C) & (D) only
Options :

5362282857. 1
5362282858. 2
5362282859. 3
5362282860. 4

Question Number : 116 Question Id : 536228734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Grs a6 () 2o
®) st amn i) QT
(€) WaEIPHTR Fi6 (iii) CSeD
(d) TS0 (v) cfities

Choose the correct answer from the options given below :

(1) (a)-(111). (b)-(11), (c)-(1), (d)-(1v)
(2) (a)-(1v). (b)-(1). (e)-(11). (d)-(i11)
(3) (a)-(av). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(1). (b)-(1v). (c)-(111), (d)-(11)

Options :

5362282861. 1

5362282862. 2

5362282863. 3
5362282864. 4

Question Number : 116 Question Id : 536228734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) Grs a6 () 2o
®) st amn i) QT
(€) WaEIPHTR Fi6 (iii) CSeD
(d) TS0 (v) cfities

Choose the correct answer from the options given below :

(1) (a)-(111). (b)-(11), (c)-(1), (d)-(1v)
(2) (a)-(1v). (b)-(1). (e)-(11). (d)-(i11)
(3) (a)-(av). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(1). (b)-(1v). (c)-(111), (d)-(11)

Options :

5362282861. 1

5362282862. 2

5362282863. 3
5362282864. 4

Question Number : 117 Question Id : 536228735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) I9 It AR e Ivm I AT (i) wAw
(b) w1 OF A1 A% ©o7 wiaf (i) et IrATET
(€ Toitg wifarer wizs AtS Bt (i) et
(d) oo ot RPN FAICE T (iv) wEAm

Choose the correct answer from the options given below :

(1) (a)-(@). (b)-(1). (e)-(v). (d)-(a1)
2  (@-@). (b)-(1). (¢)-(111), (d)-(iv)
3y (@)-(w). (b)-(1). (e)-(1), (d)-()
@) (2-G1). (b)-v). (c)-(), (d)-(1)

Options :

5362282865. 1
5362282866. 2
5362282867. 3
5362282868. 4

Question Number : 117 Question Id : 536228735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) I9 It AR e Ivm I AT (i) wAw
(b) w1 OF A1 A% ©o7 wiaf (i) et IrATET
(€ Toitg wifarer wizs AtS Bt (i) et
(d) oo ot RPN FAICE T (iv) wEAm

Choose the correct answer from the options given below :

(1) (a)-(@). (b)-(1). (e)-(v). (d)-(a1)
2  (@-@). (b)-(1). (¢)-(111), (d)-(iv)
3y (@)-(w). (b)-(1). (e)-(1), (d)-()
@) (2-G1). (b)-v). (c)-(), (d)-(1)

Options :

5362282865. 1
5362282866. 2
5362282867. 3
5362282868. 4

Question Number : 118 Question Id : 536228736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) oSt mifoe 1) =it
(b) TSI BT (i) weme
(¢) Titer oTiceet (iii) =ife csforieg w'a
(d) FaFzaqhs (iv) PFaods

Choose the correct answer from the options given below:

(1) (@)-(). (b)-(1), (c)-(11), (d)-(iv)
(2) (a)-(v). (b)-(11). (c)-(11), (d)-(1)
(3) (a)-(11). (b)-(2). (e)-(1v). (d)-(111)

(4 (a)-Gn). (b)-@v). (c)-(). (d)-(11)

Options :

5362282869. 1
5362282870. 2
5362282871.3
5362282872. 4

Question Number : 118 Question Id : 536228736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) oSt mifoe 1) =it
(b) TSI BT (i) weme
(¢) Titer oTiceet (iii) =ife csforieg w'a
(d) FaFzaqhs (iv) PFaods

Choose the correct answer from the options given below:

(1) (@)-(). (b)-(1), (c)-(11), (d)-(iv)
(2) (a)-(v). (b)-(11). (c)-(11), (d)-(1)
(3) (a)-(11). (b)-(2). (e)-(1v). (d)-(111)

(4 (a)-Gn). (b)-@v). (c)-(). (d)-(11)

Options :

5362282869. 1
5362282870. 2
5362282871.3
5362282872. 4

Question Number : 119 Question Id : 536228737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(a) of -t i) %
(b) PEAEG (i) ©BIF TSt
() wfa (iil) TETITE
(d) Tau (iv) Tae

]

Choose the correct answer from the options given below :

(1) (a)-(iv). (b)-(111), (c)-(1). (d)-(i1)
(2)  (a)-Gi). (b)-(iv). (c)-(iii), (d)-()
(3) (a)-(1). (b)-(11). (¢)-(v), (d)-(112)
4 (a)-u). (b)-(). (c)-(), (d)-(v)

Options :

5362282873. 1
5362282874.2
5362282875. 3
5362282876. 4

Question Number : 119 Question Id : 536228737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(a) of -t i) %
(b) PEAEG (i) ©BIF TSt
() wfa (iil) TETITE
(d) Tau (iv) Tae

]

Choose the correct answer from the options given below :

(1) (a)-(iv). (b)-(111), (c)-(1). (d)-(i1)
(2)  (a)-Gi). (b)-(iv). (c)-(iii), (d)-()
(3) (a)-(1). (b)-(11). (¢)-(v), (d)-(112)
4 (a)-u). (b)-(). (c)-(), (d)-(v)

Options :

5362282873. 1
5362282874.2
5362282875. 3
5362282876. 4

Question Number : 120 Question Id : 536228738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) iaeT fafiat i) I
(b) T (i) foererat
(¢ ciffes ig%% (1) =Zreos
(d) “IFEE (iv) st

Choose the correct answer from the options given below :

(D (a)-d), (b)-(iv). ()-(1). (d)-(i)
2  (@-Q). (b)-1). (0)-(1). (d)-Q)
(3 (a)-(D), (0)-(). (c)-(av). (d)-(111)
(4 (a)-(1). (b)-(111). (c)-(11). (d)-(1v)

Options :

5362282877. 1
5362282878. 2
5362282879.3
5362282880. 4

Question Number : 120 Question Id : 536228738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) iaeT fafiat i) I
(b) T (i) foererat
(¢ ciffes ig%% (1) =Zreos
(d) “IFEE (iv) st

Choose the correct answer from the options given below :

(D (a)-d), (b)-(iv). ()-(1). (d)-(i)
2  (@-Q). (b)-1). (0)-(1). (d)-Q)
(3 (a)-(D), (0)-(). (c)-(av). (d)-(111)
(4 (a)-(1). (b)-(111). (c)-(11). (d)-(1v)

Options :

5362282877. 1
5362282878. 2
5362282879.3
5362282880. 4

Question Number : 121 Question Id : 536228739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

List I List IT
(a) =t Fras ) Stoeft stEet
(b) FOE O () THEITE SHGE
(¢ Ipie dfoemy (1) Frama 7=
(d) TP AT TG (v) whesaTY Sleror

Choose the correct answer from the options given below :

(1 (a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)
(3)  (a)-(i1), (b)-(iv). (c)-(1). (d)-(iii)
4  (@)-(v). ®)-Q). (c)-(ii). (d)-( ii)

Options :

5362282881. 1
5362282882.2
5362282883. 3
5362282884. 4

Question Number : 121 Question Id : 536228739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

List I List IT
(a) =t Fras ) Stoeft stEet
(b) FOE O () THEITE SHGE
(¢ Ipie dfoemy (1) Frama 7=
(d) TP AT TG (v) whesaTY Sleror

Choose the correct answer from the options given below :

(1 (a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)
(3)  (a)-(i1), (b)-(iv). (c)-(1). (d)-(iii)
4  (@)-(v). ®)-Q). (c)-(ii). (d)-( ii)

Options :

5362282881. 1
5362282882.2
5362282883. 3
5362282884. 4

Question Number : 122 Question Id : 536228740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II
(a) w9 (1) FEEESE
(b) wiUz (i) wetavef
(¢ W& (i) ICEFEEETe
d T (iv) IOE

Choose the correct answer from the options given below :

1) (a)-@). (b)-(1v). (0)-(11). (d)-(11)
(2) (a)-(12). (b)-(111). (c)-(1v). (d)-(2)
(3) (a)-(v). (b)-(1). (0)-(11), (d)-(111)
(4) (a)-(1m1). (b)-(11). (c)-(1). (d)-(v)

Options :

5362282885. 1
5362282886. 2
5362282887. 3
5362282888. 4

Question Number : 122 Question Id : 536228740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List II
(a) w9 (1) FEEESE
(b) wiUz (i) wetavef
(¢ W& (i) ICEFEEETe
d T (iv) IOE

Choose the correct answer from the options given below :

1) (a)-@). (b)-(1v). (0)-(11). (d)-(11)
(2) (a)-(12). (b)-(111). (c)-(1v). (d)-(2)
(3) (a)-(v). (b)-(1). (0)-(11), (d)-(111)
(4) (a)-(1m1). (b)-(11). (c)-(1). (d)-(v)

Options :

5362282885. 1
5362282886. 2
5362282887. 3
5362282888. 4

Question Number : 123 Question Id : 536228741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(@) it I=at @ St
(b) CECETIIY ot (1) @3 TwEs wiiEie
(€ wEEArY =R (i) HB-feTda
d) TS g ot (iv) e et o wieg

Choose the correct answer from the options given below :

1) (-0, (b)-(id). (0)-(v), (d)-()
(2 (a)-(1). (b)-Q). (c)-(11). (d)-(v)
(3) (a)-(1). (b)-(iv). (c)-(1ii). (d)-(i1)
@  (a)-av), (b)-(1). (c)-Q). (d)-(111)

Options :

5362282889. 1
5362282890. 2
5362282891. 3
5362282892. 4

Question Number : 123 Question Id : 536228741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(@) it I=at @ St
(b) CECETIIY ot (1) @3 TwEs wiiEie
(€ wEEArY =R (i) HB-feTda
d) TS g ot (iv) e et o wieg

Choose the correct answer from the options given below :

1) (-0, (b)-(id). (0)-(v), (d)-()
(2 (a)-(1). (b)-Q). (c)-(11). (d)-(v)
(3) (a)-(1). (b)-(iv). (c)-(1ii). (d)-(i1)
@  (a)-av), (b)-(1). (c)-Q). (d)-(111)

Options :

5362282889. 1
5362282890. 2
5362282891. 3
5362282892. 4

Question Number : 124 Question Id : 536228742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) o3 1 w=d
(b) AR (i) ®
(e 25 (i) HEr-enEt
(d) =t (iv) o %

Choose the correct answer from the options given below :

(1) (@-@), b)-G), (©)-(iii). (d)-Gv)
(2)  (a)-v), (b)-(11). (c)-(1), (d)-(2)
(3)  (a)-(iid), (b)-(iv), (c)-@). (d)-(11)
4 (a)-). (b)-(). (©)-(iv). (d)-(ii)

Options :

5362282893. 1
5362282894. 2
5362282895. 3
5362282896. 4

Question Number : 124 Question Id : 536228742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(a) o3 1 w=d
(b) AR (i) ®
(e 25 (i) HEr-enEt
(d) =t (iv) o %

Choose the correct answer from the options given below :

(1) (@-@), b)-G), (©)-(iii). (d)-Gv)
(2)  (a)-v), (b)-(11). (c)-(1), (d)-(2)
(3)  (a)-(iid), (b)-(iv), (c)-@). (d)-(11)
4 (a)-). (b)-(). (©)-(iv). (d)-(ii)

Options :

5362282893. 1
5362282894. 2
5362282895. 3
5362282896. 4

Question Number : 125 Question Id : 536228743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last II
List I List IT
(a) oot @ wie
(b) SR (i) fowmoat
(c) it (i) wtFerr o
d wifi (iv) wGT

Choose the correct answer from the options given below :

(1)  (a)-(). (b)-(1). (e)-(v). (d)-()
@ (a)-@i). B)-1). (©)-). (d)-v)
3 (a)-v). (b)-). (e)-(1), (d)-(1)
@  (@)-), (b)-Gv), (c)-(111). (d)-(11)

Options :

5362282897. 1
5362282898. 2
5362282899. 3
5362282900. 4

Question Number : 125 Question Id : 536228743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match Last I with Last II
List I List IT
(a) oot @ wie
(b) SR (i) fowmoat
(c) it (i) wtFerr o
d wifi (iv) wGT

Choose the correct answer from the options given below :

(1)  (a)-(). (b)-(1). (e)-(v). (d)-()
@ (a)-@i). B)-1). (©)-). (d)-v)
3 (a)-v). (b)-). (e)-(1), (d)-(1)
@  (@)-), (b)-Gv), (c)-(111). (d)-(11)

Options :

5362282897. 1
5362282898. 2
5362282899. 3
5362282900. 4

Question Number : 126 Question Id : 536228744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) FftswE Ry x
b) IS R
(¢ Pz

(d) TEomE g
() Fuhy3g

Choose the correct answer from the options given below :

(1) (b), (e), (0), (a). (d)
(2) (). (b). (0). (d). (e)
(3)  (e). (d). (o). (b). (a)
(4)  (d). (e). (a). (c). (b)

Options :

5362282901. 1
5362282902. 2
5362282903. 3
5362282904. 4

Question Number : 126 Question Id : 536228744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) FftswE Ry x
b) IS R
(¢ Pz

(d) TEomE g
() Fuhy3g

Choose the correct answer from the options given below :

(1) (b), (e), (0), (a). (d)
(2) (). (b). (0). (d). (e)
(3)  (e). (d). (o). (b). (a)
(4)  (d). (e). (a). (c). (b)

Options :

5362282901. 1
5362282902. 2
5362282903. 3
5362282904. 4

Question Number : 127 Question Id : 536228745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U AT T7T TP ST -

(a)  wfedret
(b)  wERS
(c) gsan)
d)  offeT

(e) ST

Choose the correct answer from the options given below :

(1)  (a). (b). (e). (e). (d)
2) (). (a). @). (©. ()
(3) (o). (). (b). (e). (d)
(4)  (b). (0). (e). (a). (d)

Options :

5362282905. 1
5362282906. 2
5362282907. 3
5362282908. 4

Question Number : 127 Question Id : 536228745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



U AT T7T TP ST -

(a)  wfedret
(b)  wERS
(c) gsan)
d)  offeT

(e) ST

Choose the correct answer from the options given below :

(1)  (a). (b). (e). (e). (d)
2) (). (a). @). (©. ()
(3) (o). (). (b). (e). (d)
(4)  (b). (0). (e). (a). (d)

Options :

5362282905. 1
5362282906. 2
5362282907. 3
5362282908. 4

Question Number : 128 Question Id : 536228746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) JHgeT
(b)  afent

(c) AtstT (it
(d) BT
(e) et

Choose the correct answer from the options given below :

(1) (d). (e). (b). (c). (a)
2) (&) (b). (d). (o). (a)
(3)  (b). (d). (a). (c). (e)
(4)  (a) (b). (¢). (d), (e)

Options :

5362282909. 1
5362282910. 2
5362282911. 3
5362282912. 4

Question Number : 128 Question Id : 536228746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) JHgeT
(b)  afent

(c) AtstT (it
(d) BT
(e) et

Choose the correct answer from the options given below :

(1) (d). (e). (b). (c). (a)
2) (&) (b). (d). (o). (a)
(3)  (b). (d). (a). (c). (e)
(4)  (a) (b). (¢). (d), (e)

Options :

5362282909. 1
5362282910. 2
5362282911. 3
5362282912. 4

Question Number : 129 Question Id : 536228747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) St oot e oratE! et
(b)  FAStE wrAwf
(c) IS BiF 518 ortfaget

(d)  pEeiacers =
(e)  wwTiPiE fifs

Choose the correct answer from the options given below :

(1) (d). (M) (e). (©). ()
(2)  (a). (b). (c). (d). (e)
(3)  (e). (d). (). (b). (a)
(4)  (0). (d). (a). (e). (b)

Options :

5362282913. 1
5362282914.2
5362282915.3
5362282916. 4

Question Number : 129 Question Id : 536228747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(@) St oot e oratE! et
(b)  FAStE wrAwf
(c) IS BiF 518 ortfaget

(d)  pEeiacers =
(e)  wwTiPiE fifs

Choose the correct answer from the options given below :

(1) (d). (M) (e). (©). ()
(2)  (a). (b). (c). (d). (e)
(3)  (e). (d). (). (b). (a)
(4)  (0). (d). (a). (e). (b)

Options :

5362282913. 1
5362282914.2
5362282915.3
5362282916. 4

Question Number : 130 Question Id : 536228748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT B Sty Gt STrsTat-

(a) Structure of Assamese

(b) A Study on Kamrupi: A Dialect of Assamese
(c) Studies 1n Sino-Tibetan Language

(d) An Introduction to Assamese Phonology

(e) Nagamese: The language of Nagaland
Choose the correct answer from the options given below :

(1) (a). (), (b). (d). (e)
(2)  (e). (b). (a). (). (d)
(3)  (b). (c). (d). (e). (a)
(4) (d). (a). (b). (). (e)

Options :

5362282917. 1
5362282918. 2
5362282919. 3
5362282920. 4

Question Number : 130 Question Id : 536228748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT B Sty Gt STrsTat-

(a) Structure of Assamese

(b) A Study on Kamrupi: A Dialect of Assamese
(c) Studies 1n Sino-Tibetan Language

(d) An Introduction to Assamese Phonology

(e) Nagamese: The language of Nagaland
Choose the correct answer from the options given below :

(1) (a). (), (b). (d). (e)
(2)  (e). (b). (a). (). (d)
(3)  (b). (c). (d). (e). (a)
(4) (d). (a). (b). (). (e)

Options :

5362282917. 1
5362282918. 2
5362282919. 3
5362282920. 4

Question Number : 131 Question Id : 536228749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT HICETAT T 50 HPA(S GFtfeearnT sreat
(a) T

b) g™

()  FAmPFEm

(d) (GoAII® Tamhe

(e) ST TwII™
Choose the correct answer from the options given below :

(1) (c). (b). (a). (d). (e)
(2)  (a), (©. (d). (b). (e)
(3) (b). (a). (d). (e). (c)
(4) (b, (). (a). (d). ()

Options :

5362282921. 1
5362282922.2
5362282923. 3
5362282924. 4

Question Number : 131 Question Id : 536228749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT HICETAT T 50 HPA(S GFtfeearnT sreat
(a) T

b) g™

()  FAmPFEm

(d) (GoAII® Tamhe

(e) ST TwII™
Choose the correct answer from the options given below :

(1) (c). (b). (a). (d). (e)
(2)  (a), (©. (d). (b). (e)
(3) (b). (a). (d). (e). (c)
(4) (b, (). (a). (d). ()

Options :

5362282921. 1
5362282922.2
5362282923. 3
5362282924. 4

Question Number : 132 Question Id : 536228750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) RS ST RIS
(b) @Y SrECAE

(c) B i e R R EE

(d) ey ofietfpTat

(e)  TOrEAMY TSt
Choose the correct answer from the options given below :

(1) (a). (d), (b). (c). (e)
(2)  (b). (a). (d). (c). (e)
(3)  (@). (b). (c). (d). (e)
(4) (). (d). (e). (a). (b)

Options :

5362282925. 1
5362282926. 2
5362282927.3
5362282928. 4

Question Number : 132 Question Id : 536228750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(a) RS ST RIS
(b) @Y SrECAE

(c) B i e R R EE

(d) ey ofietfpTat

(e)  TOrEAMY TSt
Choose the correct answer from the options given below :

(1) (a). (d), (b). (c). (e)
(2)  (b). (a). (d). (c). (e)
(3)  (@). (b). (c). (d). (e)
(4) (). (d). (e). (a). (b)

Options :

5362282925. 1
5362282926. 2
5362282927.3
5362282928. 4

Question Number : 133 Question Id : 536228751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT FhOT WS QFIEOT TSI -

(a) AT Fiast
(b)  TIAD

(©  Fg

(d) HIGIE

(e)  sftorat

Choose the correct answer from the options given below :

(1) (a). (b). (c). (d). (e)
(2)  (c). (e). (b). (a). (d)
(3)  (b). (@). (c). (d). (e)
(4) (e). (c). (b). (a). (d)

Options :

5362282929. 1
5362282930. 2
5362282931. 3
5362282932. 4

Question Number : 133 Question Id : 536228751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AT FhOT WS QFIEOT TSI -

(a) AT Fiast
(b)  TIAD

(©  Fg

(d) HIGIE

(e)  sftorat

Choose the correct answer from the options given below :

(1) (a). (b). (c). (d). (e)
(2)  (c). (e). (b). (a). (d)
(3)  (b). (@). (c). (d). (e)
(4) (e). (c). (b). (a). (d)

Options :

5362282929. 1
5362282930. 2
5362282931. 3
5362282932. 4

Question Number : 134 Question Id : 536228752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(e)  TatEHr wiT @Iy

Choose the correct answer from the options given below :

1 @. (b).(d). (e). (¢)
(2) (b (a). (d). (). (e)
(3)  (@). (0. (b). (d). (e)
4 (a). (b). (c). (d). (e)

Options :

5362282933. 1
5362282934. 2
5362282935.3
5362282936. 4

Question Number : 134 Question Id : 536228752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(e)  TatEHr wiT @Iy

Choose the correct answer from the options given below :

1 @. (b).(d). (e). (¢)
(2) (b (a). (d). (). (e)
(3)  (@). (0. (b). (d). (e)
4 (a). (b). (c). (d). (e)

Options :

5362282933. 1
5362282934. 2
5362282935.3
5362282936. 4

Question Number : 135 Question Id : 536228753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i dittaet oIy Fifreer JretEr-
(b) TN StEEE

(c)  stmwer swfef

(d) Tt Berfaf

() I Premiferfst
Choose the correct answer from the options given below :

(1) (). (b). (a). (). (d)
(2) (. (b). (c). (a). (e)
(3)  (d). (e). (b). (a), (¢)
(4 (b). (o). @d. (). (e

Options :

5362282937. 1
5362282938. 2
5362282939. 3
5362282940. 4

Question Number : 135 Question Id : 536228753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i dittaet oIy Fifreer JretEr-
(b) TN StEEE

(c)  stmwer swfef

(d) Tt Berfaf

() I Premiferfst
Choose the correct answer from the options given below :

(1) (). (b). (a). (). (d)
(2) (. (b). (c). (a). (e)
(3)  (d). (e). (b). (a), (¢)
(4 (b). (o). @d. (). (e

Options :

5362282937. 1
5362282938. 2
5362282939. 3
5362282940. 4

Question Number : 136 Question Id : 536228754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ft et wima cmifer ancdt, woft Rt wizs fFom oftss e oot weos
THitEal, oo ©iF THiT GhEw |

ReasonR : IMoiPe nivg-zom 7oy oiF §4-@Si9e ATRefsdacs foee g o=t
e AT i AT |
gotgo Bfeqols cifzee =itfoce Szees Sweot Tify Sfredt-
(1) A’ =¥ ‘R’ goIfof stey o ‘R’ targ ‘A’ § @& T |
(2) CA'wiE ‘R’ gl Sy F® R’ OCA’ T wm ot 95
(3) A’ T ‘R’ opres
(4) A o $E R’ e
Options :
5362282941. 1
5362282942. 2

5362282943.3
5362282944. 4

Question Number : 136 Question Id : 536228754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ft et wima cmifer ancdt, woft Rt wizs fFom oftss e oot weos
THitEal, oo ©iF THiT GhEw |

ReasonR : IMoiPe nivg-zom 7oy oiF §4-@Si9e ATRefsdacs foee g o=t
e AT i AT |
gotgo Bfeqols cifzee =itfoce Szees Sweot Tify Sfredt-
(1) A’ =¥ ‘R’ goIfof stey o ‘R’ targ ‘A’ § @& T |
(2) CA'wiE ‘R’ gl Sy F® R’ OCA’ T wm ot 95
(3) A’ T ‘R’ opres
(4) A o $E R’ e
Options :
5362282941. 1
5362282942. 2

5362282943.3
5362282944. 4

Question Number : 137 Question Id : 536228755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ©F > B9, Ty > Tod- W99 % AIT6a@T T9eies SnEad, it 3
T TEHAT NSo ITEE Y13 SHIRT FaeT Fa7 (207 |

ReasonR : & > 39, @if > & [@0&TS SHIFT FAPI0T afoe ITeerg Sumad |

goive Bfeqolr cfizee 5 Swawt g Bfenedt-
(1) A’ =¥ ‘R’ gofof stey oiF ‘R’ targ ‘A’ § & T |
(2) CA’wiF ‘R’ gt Sy f@E R7OA’ 7 W o 9=
(3) AT FE R’ o=y
(4) A oey 8 R’ A

Options :

5362282945, 1

5362282946. 2

5362282947.3
5362282948. 4

Question Number : 137 Question Id : 536228755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as

Reason R
Assertion A: ©F > B9, Ty > Tod- W99 % AIT6a@T T9eies SnEad, it 3
T TEHAT NSo ITEE Y13 SHIRT FaeT Fa7 (207 |

ReasonR : & > 39, @if > & [@0&TS SHIFT FAPI0T afoe ITeerg Sumad |

goive Bfeqolr cfizee 5 Swawt g Bfenedt-
(1) A’ =¥ ‘R’ gofof stey oiF ‘R’ targ ‘A’ § & T |
(2) CA’wiF ‘R’ gt Sy f@E R7OA’ 7 W o 9=
(3) AT FE R’ o=y
(4) A oey 8 R’ A

Options :

5362282945, 1

5362282946. 2

5362282947.3
5362282948. 4

Question Number : 138 Question Id : 536228756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1 labelled as Assertion A and the other is labelled as
Reason R

Assertion A: @FeHAIT ‘Forws e’ @iert fo=or frog it Tieives s99oe ofew et
GIER

ReasonR : @3 f&f0t Moo st 25725 oiiF dred oga fod foq ofer dotst 3ie
ST AT |

cATe Sfevple citzee B% Swuact Iy Bfredr-

(1) CA’wiF ‘R’ q@ic o oiF ‘R’ tam ‘A’ T @5 T
(2) CA'=IF ‘R’ qriolk oy 8 R A’ 3 wm AT 95
(3) CA'Yw [ ‘R’ woTws

(4) A’ oPney [ R’ ey

Options :

5362282949. 1
5362282950. 2
5362282951. 3
5362282952. 4

Question Number : 138 Question Id : 536228756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1 labelled as Assertion A and the other is labelled as
Reason R

Assertion A: @FeHAIT ‘Forws e’ @iert fo=or frog it Tieives s99oe ofew et
GIER

ReasonR : @3 f&f0t Moo st 25725 oiiF dred oga fod foq ofer dotst 3ie
ST AT |

cATe Sfevple citzee B% Swuact Iy Bfredr-

(1) CA’wiF ‘R’ q@ic o oiF ‘R’ tam ‘A’ T @5 T
(2) CA'=IF ‘R’ qriolk oy 8 R A’ 3 wm AT 95
(3) CA'Yw [ ‘R’ woTws

(4) A’ oPney [ R’ ey

Options :

5362282949. 1
5362282950. 2
5362282951. 3
5362282952. 4

Question Number : 139 Question Id : 536228757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I : ot AT, AT I eT g |
Statement II : 57337199 AfowH WiqE @9 I #fes I GBI T AL |

@717 BT qOIT oitnge Boe [TegenEs st itiEsie Jgaeret Seacot Jify Sferedt-
() SfF T e 3fe ‘II’ gk =
2) SfF ‘T orF 3fF I qEnl ous
3) Ui T ©m g Ofw II' o5
(4) OfF ‘T wwg T8 ofF ‘|I° =g
Options :
5362282953. 1
5362282954. 2

5362282955.3
5362282956. 4

Question Number : 139 Question Id : 536228757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:
Statement I : [Gd1a 3[4, 91E 1 ©F T4 |
Statement II : 535719 dfowm wiqE @=a <A @fes T GE FF = |

87197 BT goiT Coitege oo egena <=t SitiRsie dxderss Seacot Iifz Sferedt-
(1) SfF ‘T orF 3fF IT qEnE s

@) OfF T =T 3fF IT qEnE owEs

(3) OfF T @5 8 8fe ‘I -5

(4) OfF ‘T =ew 8 of I us

Options :



5362282953. 1
5362282954. 2
5362282955. 3
5362282956. 4

Question Number : 140 Question Id : 536228758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement [: (g7 =5 =5te R w3 swfepe @ T ot It Preg 7o g
o913 Rz =t ot g et wfw i | e O3 SeTaols o 92 wies,
TETo WL TFe Fred MEe Ret wite FaE T |

Statement II: =g =19fe RE == @&t 7=1F 9% oie otae Tgfen w7 T Sife
oz |

89197 BT I citngs ooe RaernEs <fat ©a Seant 31y Sfeneat-
(1) O ‘T wite S ‘I qanE &=

(2) O T =iF S I qEE o

(3) ©fF T um &8 fe ‘II' oo5

(4) OfF T oy T8 ofF ‘I 85

Options :

5362282957. 1
5362282958. 2
5362282959. 3
5362282960. 4

Question Number : 140 Question Id : 536228758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement [: (g7 =5 =5te R w3 swfepe @ T ot It Preg 7o g
sia3 R ot ot g7 Shact SR i | g 93 Sevamis oo 32 isires,
TETw WRET AFhe F2od SffFe RErt @fe e e |

Statement II: =g =19fe RE == @&t 7=1F 9% oie otae Tgfen w7 T Sife
= |

89197 BT I citngs ooe RaernEs <fat ©a Seant 31y Sfeneat-
(1) O ‘T wite S ‘I qanE &=

(2) O T =iF S I qEE o

(3) ©fF T um &8 fe ‘II' oo5

(4) OfF T oy T8 ofF ‘I 85

Options :

5362282957. 1
5362282958. 2
5362282959. 3
5362282960. 4

Sub-Section Number : 2
Sub-Section Id : 53622829
Question Shuffling Allowed : Yes

Question Id : 536228759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (141 to 145)

Question Label : Comprehension



7S, U ol oY oW TT | FYRISIT WEE AR e It JPUT IS
wgfs I o, cam- o5, e, T, ey, fta, s, Sty W33t gmiT ey et
fafes ert-TfRetrnme sigfs It segfesr wf =@ 39t =) focwz SfEfis sz
steFfes Ff wiie Twess Acgfes wf | e, QBRfRer Oot w3 swfacg | s19gfs e seee
TS W AW o et Ak W @it SRiss wiet e iz few It oee
AMATEN whootlds dET AT IwEE ocgfor Iy Tosw @1 ME GREE wEdE W
ffveres R Afififas =ie mfss ot oife EefERT o U |

o T AtT- WEdm @R = 4 SR Tove dfim, ot et AfEfifes ois
Tise w1 e creiaEng = @EREE I oo dfewae G et 3= 3 1R7 o= =i
F9eT Bud T AEPA- @it giHa @ 913 T W3ast ey afowle amm one, wifm
T crfont &fT o 9t Wiy o Si-ow Ut oEe R WiRter o Atfe-Titt e afacg, o
Tg T MSTe! B APt | dfsesm nigey mme e 9t e ciefteeat SR | 39 AEs
=Tt [ el trw, oo @it Wi, g |

T dFfeT o e ST gfer wiifam o et | Toele RerT @5 wfoo (2 @
TiET I wiF Ghow (2 0T O SRE-TET Eio | ol TEEiie @i Tiate Sieas e
T (7 Wiy B Aeret WiF 7eFe |

Sub questions

Question Number : 141 Question Id : 536228760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRS I 4T AFhoT 9 @ $¥a997

(1) o= seFhs T s o3t =7 |
(2) o wiF Tforer TiFho e SE T 27
(3)  IpwiT ey al e ef-SANeshRE TFhe =F & 27 |
(4) e AifEes, fta, fie, sw wifee wwgfe =i wat 27
Options :
5362282961. 1
5362282962. 2

5362282963. 3
5362282964. 4

Question Number : 142 Question Id : 536228761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(EEIT AT FF AFhoT oW I @IFIF?

(1) Fom I WF7 Aamen Fhooidd FNT AT IEE AFoT wis fsose T9E
(2) TRETT Nifee 7 Aghos foowar 727 |

(3) R AfFte wt Tfes feowat a2
(4)  CIeiEeT =t ot aiFaT FEE A9Fies oo a5

Options :

5362282965. 1
5362282966. 2
5362282967. 3
5362282968. 4

Question Number : 143 Question Id : 536228762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
gt wiedn T T SRR AfFfifas nifse oot afeefe aets st B2

(1) wniftw maw Wiy o=t Se-sw gEe S WRte e Aife-aift etaw sfafie

(2) ofoss wiges 797 e Wbt e eieftet ot |

()  IT AES T, tIET % wifng ow Siw Teiie g e

Options :

5362282969. 1
5362282970. 2
5362282971.3
5362282972. 4

Question Number : 144 Question Id : 536228763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Sie-oE 5pe 4T 4=t o1 Sio-IPt 3317 7o |

(2) aigpfes s Tl oY fAom 13 srotats dwEts |

(3)  wiifomr wiHgs Sece ST Aiew EI el Afomerd wibe |
(4) 9T Hhooiys (49 i EETet cireld Afowes witieT |

Options :



5362282973. 1
5362282974.2
5362282975.3
5362282976. 4

Question Number : 145 Question Id : 536228764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeTelg ¢ ofF GoriT ooie [ T Ooftwe wfee g Wi@?

(1) =roied Jere! WiF Nigad SET-T9497 &6 |

(2) Toles AFhe WiF AigeT SlaT-TTT A=hs |

(3) dyfeq e19e AT 71 |
(4)  TIEE TeEE AT oiF Siaa-areET omie |

Options :

5362282977. 1
5362282978. 2
5362282979. 3
5362282980. 4

Question Id : 536228759 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (141 to 145)
Question Label : Comprehension



7S, U ol oY oW TT | FYRISIT WEE AR e It JPUT IS
wgfs I o, cam- o5, e, T, ey, fta, s, Sty W33t gmiT ey et
fafes ert-TfRetrnme sigfs It segfesr wf =@ 39t =) focwz SfEfis sz
steFfes Ff wiie Twess Acgfes wf | e, QBRfRer Oot w3 swfacg | s19gfs e seee
TS W AW o et Ak W @it SRiss wiet e iz few It oee
AMATEN whootlds dET AT IwEE ocgfor Iy Tosw @1 ME GREE wEdE W
ffveres R Afififas =ie mfss ot oife EefERT o U |

o T AtT- WEdm @R = 4 SR Tove dfim, ot et AfEfifes ois
Tise w1 e creiaEng = @EREE I oo dfewae G et 3= 3 1R7 o= =i
F9eT Bud T AEPA- @it giHa @ 913 T W3ast ey afowle amm one, wifm
T crfont &fT o 9t Wiy o Si-ow Ut oEe R WiRter o Atfe-Titt e afacg, o
Tg T MSTe! B APt | dfsesm nigey mme e 9t e ciefteeat SR | 39 AEs
=Tt [ el trw, oo @it Wi, g |

T dFfeT o e ST gfer wiifam o et | Toele RerT @5 wfoo (2 @
TiET I wiF Ghow (2 0T O SRE-TET Eio | ol TEEiie @i Tiate Sieas e
T (7 Wiy B Aeret WiF 7eFe |

Sub questions

Question Number : 141 Question Id : 536228760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SRS I 4T AFhoT 9 @ $¥a997

(1) o= seFhs T s o3t =7 |
(2) o wiF Tforer TiFho e SE T 27
(3)  IpwiT ey al e ef-SANeshRE TFhe =F & 27 |
(4) e AifEes, fta, fie, sw wifee wwgfe =i wat 27
Options :
5362282961. 1
5362282962. 2

5362282963. 3
5362282964. 4

Question Number : 142 Question Id : 536228761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(EEIT AT FF AFhoT oW I @IFIF?

(1) Fom I WF7 Aamen Fhooidd FNT AT IEE AFoT wis fsose T9E
(2) TRETT Nifee 7 Aghos foowar 727 |

(3) R AfFte wt Tfes feowat a2
(4)  CIeiEeT =t ot aiFaT FEE A9Fies oo a5

Options :

5362282965. 1
5362282966. 2
5362282967. 3
5362282968. 4

Question Number : 143 Question Id : 536228762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
gt wiedn T T SRR AfFfifas nifse oot afeefe aets st B2

(1) wniftw maw Wiy o=t Se-sw gEe S WRte e Aife-aift etaw sfafie

(2) ofoss wiges 797 e Wbt e eieftet ot |

()  IT AES T, tIET % wifng ow Siw Teiie g e

Options :

5362282969. 1
5362282970. 2
5362282971.3
5362282972. 4

Question Number : 144 Question Id : 536228763 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) Sie-oE 5pe 4T 4=t o1 Sio-IPt 3317 7o |

(2) aigpfes s Tl oY fAom 13 srotats dwEts |

(3)  wiifomr wiHgs Sece ST Aiew EI el Afomerd wibe |
(4) 9T Hhooiys (49 i EETet cireld Afowes witieT |

Options :



5362282973. 1
5362282974.2
5362282975.3
5362282976. 4

Question Number : 145 Question Id : 536228764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeTelg ¢ ofF GoriT ooie [ T Ooftwe wfee g Wi@?

(1) =roied Jere! WiF Nigad SET-T9497 &6 |

(2) Toles AFhe WiF AigeT SlaT-TTT A=hs |

(3)  PhoT @5to Afqas 79T |
(4)  TIEE TeEE AT oiF Siaa-areET omie |

Options :

5362282977. 1
5362282978. 2
5362282979. 3
5362282980. 4

Sub-Section Number : 3
Sub-Section Id : 53622830
Question Shuffling Allowed : Yes

Question Id : 536228765 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (146 to 150)
Question Label : Comprehension



fafe Jiiiefite =9t o= Swfoee & 3=e @t bt fT23 et 38 3 o o S |
it o=t @it att sfam oot 3 | o1R wiiT TgTe @it T8 It ol At 3t = ) S
fafs ot oof efe Bt T - TEIwe O 3w | owerwe TPe @t g TR
it OBt wrEsw goE, I (W) O agEhT ) omartst 3t opnien it orsstwe ) ae
Tage ‘T Twww aEt T+ ag 5ot 3f (WE)F ot arm | e T e | s =T
Rt 2'te, seime f5fatt fiza (3-3-3) goe A, s amis fafrs st goiete 2@
(k-a-n-a-k) 1z ot T Ty st o ol 3ftwe &P droe s sEct et
o= Tazis w9t = |

fafts affe-afs fofy e o9Iw omge He fTa-faft | fto-faPe e st stope
=t | ol TP Rert @ie o ekl oiF sErEe e @e dRTe 2wt |
fWiners TiEt orwarwe Winge @R 930 owEe oiF Iftws JF = Wi Gt gy
Tel AR OF WoEw FIoE 6T |

AT aPraEne dos 5o ee witm AfE- (1) Fals BPe o ot 3 S,
cE- Bt 9 e &P e (2) fiae fofts o o of U, oE- @me, omeeiE,
it ot | Efawt (Ferwy) I ey TP fege enfisen @t e afison a4
4000 JzET SCE-SHet oftat T I Ao wfers v | Joiferree 3T gEest | @ot
it aifos DT otve oifp oifs a3 &P crat afiger

Sub questions

Question Number : 146 Question Id : 536228766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) orFarwT e I T'o7 HiAg ot

(2) I e OBt wESE Jo ot Iefree It I gorm
(3) owarwE T fiF e ot o wEte

(4) orFewe wiF e A WP 5ot et

Options :

5362282981. 1
5362282982.2
5362282983. 3
5362282984. 4

Question Number : 147 Question Id : 536228767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

RSt ot e ot e orwatee Pt gl et ==

(1) orFsrwe e drew wig sEet ot oz egs =t =7
(2 oFaias afe @ fofHe oofe fie wiog )

(3) oI e TEATE e Ot 39 Tw (g AT

(4 oI TiPhs et ant fozR ottt T8 Tt ©fT ot S |

Options :

5362282985. 1
5362282986. 2
5362282987. 3
5362282988. 4

Question Number : 148 Question Id : 536228768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



whnes faft 3o et 7 gone Reifsee

(1) wiges @ Jfa e ol Swifse wiqs gois e

(2) fafis offes el o aitls ofie gor e

(3) TrafEtie e e arek Rt ore s 99 oo aEr T goe e |
(49 ot wiges & g goiEe |

Options :

5362282989. 1
5362282990. 2
5362282991. 3
5362282992. 4

Question Number : 149 Question Id : 536228769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) oresieR wiaee e e wfaee ofedt @R wffT Swete wt@Re R

fTeifarz |
(2) AT RPN A s I @nEt o e et oe 3t O3 5ot w9 e
fretfars |

(3) wwarwe wimew @ dun omgE wiw oF AEE Rofte w990t va afee sfaes
faft |

(4 orwarwe AP @it ot fT28 @it OBt I o, RN ST |

Options :



5362282993. 1
5362282994. 2
5362282995. 3
5362282996. 4

Question Number : 150 Question Id : 536228770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) ot g stst gor- B9t &1t o a5
(2) faPs a¢F i got- Tafef e wiafat

(3) fafs age et 5ot e gt Bists =r%a I I T F Ao s =rFT I I
AT |

@) faPrs aum st @30 a- Tt ot aEpfatt, @ & one et &t

Options :

5362282997. 1
5362282998. 2
5362282999. 3
5362283000. 4

Question Id : 536228765 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (146 to 150)
Question Label : Comprehension



fafe Jiiiefite =9t o= Swfoee & 3=e @t bt fT23 et 38 3 o o S |
it o=t @it att sfam oot 3 | o1R wiiT TgTe @it T8 It ol At 3t = ) S
fafs ot oof efe Bt T - TEIwe O 3w | owerwe TPe @t g TR
it OBt wrEsw goE, I (W) O agEhT ) omartst 3t opnien it orsstwe ) ae
Tage ‘T Twww aEt T+ ag 5ot 3f (WE)F ot arm | e T e | s =T
Rt 2'te, seime f5fatt fiza (3-3-3) goe A, s amis fafrs st goiete 2@
(k-a-n-a-k) 1z ot T Ty st o ol 3ftwe &P droe s sEct et
o= Tazis w9t = |

fafts affe-afs fofy e o9Iw omge He fTa-faft | fto-faPe e st stope
=t | ol TP Rert @ie o ekl oiF sErEe e @e dRTe 2wt |
fWiners TiEt orwarwe Winge @R 930 owEe oiF Iftws JF = Wi Gt gy
Tel AR OF WoEw FIoE 6T |

AT aPraEne dos 5o ee witm AfE- (1) Fals BPe o ot 3 S,
cE- Bt 9 e &P e (2) fiae fofts o o of U, oE- @me, omeeiE,
it ot | Efawt (Ferwy) I ey TP fege enfisen @t e afison a4
4000 JzET SCE-SHet oftat T I Ao wfers v | Joiferree 3T gEest | @ot
it aifos DT otve oifp oifs a3 &P crat afiger

Sub questions

Question Number : 146 Question Id : 536228766 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362282981. 1
5362282982.2
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Question Number : 147 Question Id : 536228767 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 536228768 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 149 Question Id : 536228769 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 536228770 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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